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А�����!��� /�Ы�  

�>?@>AO 4;S A>15A54>20=8S 8 ?@0:B8G5A:8E @01>B / A0<>AB>SB5;P=>9 (4>-
<0H=59) @01>BO 

 0745; (B5<0) 1 �E>4=>5 B5AB8@>20=85 
�><?5B5=F8S #�-4. %?>A>15= ?@8<5=OBL A>2@5<5==K5 :><<C=8:0B82=K5 B5E-
=>;>388, 2 B>< G8A;5 =0 8=>AB@0==><(KE) O7K:5(0E), 4;O 0:045<8G5A:>3> 8 ?@>-
D5AA8>=0;L=>3> 2708<>459AB28O. 
�=48:0B>@ :><?5B5=F88 '�-4.1, '�-4.2, '�-4.3, '�-4.4. 
�>?@>AO: 1. What is your first name? 2. What is your surname? 3. How old are you? 4. Where were you born? 5. What is your date of birth? 
 0745; (B5<0) 2 !BC45=G5A:0S 687=P 8 2OAH55 >1@07>20=85 2  >AA88 8 <8@5 
�><?5B5=F8S #�-4. %?>A>15= ?@8<5=OBL A>2@5<5==K5 :><<C=8:0B82=K5 B5E-
=>;>388, 2 B>< G8A;5 =0 8=>AB@0==><(KE) O7K:5(0E), 4;O 0:045<8G5A:>3> 8 ?@>-
D5AA8>=0;L=>3> 2708<>459AB28O. 
�=48:0B>@ :><?5B5=F88 '�-4.1, '�-4.2, '�-4.3, '�-4.4. 
�>?@>AO: 1) What does the phrase <the right to education= mean? 2) What is the right to education in Russia ensured by? 3) What is necessary for entering a higher educational establishment? 4) Is there any difference between education in England and the RF? 5) What degrees can a person get after graduating from a higher educational institu-tion in our country and in Great Britain? 
 0745; (B5<0) 3 �;>10;870F8S 8 :C;PBC@=O5 10@P5@O 
�><?5B5=F8S #�-4. %?>A>15= ?@8<5=OBL A>2@5<5==K5 :><<C=8:0B82=K5 B5E-
=>;>388, 2 B>< G8A;5 =0 8=>AB@0==><(KE) O7K:5(0E), 4;O 0:045<8G5A:>3> 8 ?@>-
D5AA8>=0;L=>3> 2708<>459AB28O. 
�=48:0B>@ :><?5B5=F88 '�-4.1, '�-4.2, '�-4.3, '�-4.4. 
�>?@>AO: 1) How many different ways can people communicate in? 2) Do you find easy or difficult to learn languages? 3) What language is spoken in France? Germany? Italy? China? Japan? 4) Are you good at communicating in English? 5) What English-speaking countries do you know? 
 0745; (B5<0) 4 �0CG=>-B5E=8G5A:89 ?@>3@5AA 
�><?5B5=F8S #�-4. %?>A>15= ?@8<5=OBL A>2@5<5==K5 :><<C=8:0B82=K5 B5E-
=>;>388, 2 B>< G8A;5 =0 8=>AB@0==><(KE) O7K:5(0E), 4;O 0:045<8G5A:>3> 8 ?@>-
D5AA8>=0;L=>3> 2708<>459AB28O. 
�=48:0B>@ :><?5B5=F88 '�-4.1, '�-4.2, '�-4.3, '�-4.4. 
�>?@>AO: 1) What famous scientist do you know? 
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2) Which of the scientists do you admire most? Why? 3) What famous inventors do you know? 4) Is there any difference between scientist and inventor? 5) Name top 10 of 20-21 centuries inventors. 
 0745; (B5<0) 5 �>S 1C4CI0S ?@>D5AA8S 
�><?5B5=F8S #�-4. %?>A>15= ?@8<5=OBL A>2@5<5==K5 :><<C=8:0B82=K5 B5E-
=>;>388, 2 B>< G8A;5 =0 8=>AB@0==><(KE) O7K:5(0E), 4;O 0:045<8G5A:>3> 8 ?@>-
D5AA8>=0;L=>3> 2708<>459AB28O. 
�=48:0B>@ :><?5B5=F88 '�-4.1, '�-4.2, '�-4.3, '�-4.4. 
�>?@>AO: 1) What profession have you chosen? 2) What field of science are you fond of? 3) Is it an easy thing to choose a profession out of more than 2000 existing in the world? 4) Why did you choose engineering and economics? 5) Why do you like your future profession? 
 0745; (B5<0) 6 �A=>2O A?5F80;P=>AB8 
�><?5B5=F8S #�-4. %?>A>15= ?@8<5=OBL A>2@5<5==K5 :><<C=8:0B82=K5 B5E-
=>;>388, 2 B>< G8A;5 =0 8=>AB@0==><(KE) O7K:5(0E), 4;O 0:045<8G5A:>3> 8 ?@>-
D5AA8>=0;L=>3> 2708<>459AB28O. 
�=48:0B>@ :><?5B5=F88 '�-4.1, '�-4.2, '�-4.3, '�-4.4. 
�>?@>AO: 1) What does the word 8sustainable9 mean? 2) What is production? 3) What is Sustainable Consumption and Production? 4) What is sustainable production? 5) What are the Primary Goals of Sustainability? 
 0745; (B5<0) 7 "5E=8G5A:89 ?@>3@5AA 8 Q:>;>38S 
�><?5B5=F8S #�-4. %?>A>15= ?@8<5=OBL A>2@5<5==K5 :><<C=8:0B82=K5 B5E-
=>;>388, 2 B>< G8A;5 =0 8=>AB@0==><(KE) O7K:5(0E), 4;O 0:045<8G5A:>3> 8 ?@>-
D5AA8>=0;L=>3> 2708<>459AB28O. 
�=48:0B>@ :><?5B5=F88 '�-4.1, '�-4.2, '�-4.3, '�-4.4. 
�>?@>AO: 1) What does the word 8sustainable9 mean? 2) What is ecology? 3) What is Sustainable production? 4) What is sustainable production? 5) What are the Primary Goals of sustainable ecology? 
�@8B5@88 >F5=:8: - 2;045=85 B5@<8=>;>3859 48AF8?;8=K; - C<5=85 3@0<>B=> 8=B5@?@5B8@>20BL B5>@5B8G5A:89 <0B5@80;, 4020BL ?>OA-
=5=8O (?@8<5@K), 8A?>;L7>20BL @07;8G=K5 D>@<K <KA;8B5;L=>9 45OB5;L=>AB8 
(0=0;87, A8=B57, >F5=820=85, A@02=5=85, >1>1I5=85 8 B.?.); - 3@0<>B=0O, ;0:>=8G=0O, 4>ABC?=0O 8 ?>=OB=0O @5GL 8 4@. 
�F5=>G=0S H:0;0 
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"F5=:0 "�B;8G=>" 2KAB02;O5BAO, 5A;8 ABC45=B ?>;=> @0A:@K; A>45@60=85 <0-
B5@80;0; <0B5@80; 87;>65= 3@0<>B=>, 2 >?@545;5==>9 ;>38G5A:>9 ?>A;54>20-
B5;L=>AB8; ?@>45<>=AB@8@>20=> A8AB5<=>5 8 3;C1>:>5 7=0=85 ?@>3@0<<=>3> <0-
B5@80;0; ?>:070=> C<5=85 8;;NAB@8@>20BL B5>@5B8G5A:85 ?>;>65=8O :>=:@5B-
=K<8 ?@8<5@0<8, ?@8<5=OBL 8E 2 =>2>9 A8BC0F88; ?@>45<>=AB@8@>20=> CA2>5-
=85 @0=55 87CG5==KE A>?CBAB2CNI8E 2>?@>A>2, AD>@<8@>20=- =>ABL 8 CAB>9G8-
2>ABL :><?5B5=F89, C<5=89 8 =02K:>2; >B25B ?@>72CG0; A0<>AB>OB5;L=>, 157 
=02>4OI8E 2>?@>A>2; 4>?CI5=K >4=0 - 425 =5B>G=>AB8. 
"F5=:0 "%>@>H>" 2KAB02;O5BAO, 5A;8 ABC45=B 87;0305B <0B5@80; A8AB5<0B878-
@>20=> 8 ?>A;54>20B5;L=>; ?@>45<>=AB@8@>20; C<5=85 0=0;878@>20BL <0B5@80;, 
?@>45<>=AB@8@>20; CA2>5=85 >A=>2=>9 ;8B5@0BC@K, => ?@8 MB>< 8<55B >48= 87 
=54>AB0B:>2: 2 87;>65=88 4>?CI5=K =51>;LH85 ?@>15;K, =5 8A:0782H85 A>45@-
60=85 >B25B0; 4>?CAB8; >48= - 420 =54>G5B0 ?@8 >A25I5=88 >A=>2=>3> A>45@60-
=8O >B25B0, 8A?@02;5==K5 ?> 70<5G0=8N ?@5?>4020B5;O; 4>?CAB8; >H81:C 8;8 
1>;55 42CE =54>G5B>2 ?@8 >A25I5=88 2B>@>AB5?5==KE 2>?@>A>2, :>B>@K5 ;53:> 
8A?@02;ONBAO ?> 70<5G0=8N ?@5?>4020B5;O. 
"F5=:0 "#4>2;5B2>@8B5;P=>" 2KAB02;O5BAO, 5A;8 ABC45=B =5?>;=> 8;8 =5?>-
A;54>20B5;L=> @0A:@K; A>45@60=85 <0B5@80;0, => ?>:070=> >1I55 ?>=8<0=85 
2>?@>A0 8 ?@>45<>=AB@8@>20=K C<5=8O, 4>AB0B>G=K5 4;O 40;L=59H53> CA2>5=8O 
<0B5@80;0; CA2>5=K >A=>2=K5 :0B53>@88 ?> @0AA<0B@8205<><C 8 4>?>;=8B5;L-
=K< 2>?@>A0<; 8<5;8AL 70B@C4=5=8O 8;8 4>?CI5=K >H81:8 2 >?@545;5=88 ?>-
=OB89, 8A?@02;5==K5 ?>A;5 =5A:>;L:8E =02>4OI8E 2>?@>A>2; ?@8 =5?>;=>< 7=0-
=88 B5>@5B8G5A:>3> <0B5@80;0 2KO2;5=0 =54>AB0B>G=0O AD>@<8@>20==>ABL :><-
?5B5=F89, C<5=89 8 =02K:>2, ABC45=B =5 <>65B ?@8<5=8BL B5>@8N 2 =>2>9 A8BC-
0F88. 
"F5=:0 "�5C4>2;5B2>@8B5;P=>" 2KAB02;O5BAO, 5A;8 ABC45=B =5 @0A:@K; >A=>2-
=>5 A>45@60=85 CG51=>3> <0B5@80;0; >1=0@C65=> =57=0=85 8;8 =5?>=8<0=85 
1>;LH59 8;8 =081>;55 206=>9 G0AB8 CG51=>3> <0B5@80;0; 4>?CI5=K >H81:8 2 
>?@545;5=88 ?>=OB89, ?@8 8A?>;L7>20=88 B5@<8=>;>388, :>B>@K5 =5 8A?@02-
;5=K ?>A;5 =5A:>;L:8E =02>4OI8E 2>?@>A>2, =5 AD>@<8@>20=K :><?5B5=F88, 
C<5=8O 8 =02K:8.  
"F5=:0 "�0GB5=>" 2KAB02;O5BAO ABC45=BC, 5A;8 >A=>2=>5 A>45@60=85 2>?@>A0 
@0A:@KB>, 2 >B25B5 <>3CB A>45@60BLAO =5B>G=>AB8, :>B>@K5 2 F5;>< =5 2;8ONB =0 
87;>65=85 <0B5@80;0 8 =5 A>45@60B 3@C1KE >H81>:. 
"F5=:0 "!5 70GB5=>" 2KAB02;O5BAO ABC45=BC, 5A;8 =5 @0A:@KB> >A=>2=>5 A>45@-
60=85 <0B5@80;0, >1=0@C65=> =57=0=85 >A=>2=KE ?>;>65=89 ?> B5<5 2>?@>A0. 
#@8ACBAB2CNB 3@C1K5 >H81:8. "B25B =0 2>?@>A >BACBAB2C5B    

�>?@>AO 4;S 70G5B0   
"8?>2O5 2>?@>AO: 1. What year student are you? 



8  
2. What faculty do you attend? 3. What do you specialize in? 4. Why have you chosen a career of an engineer in chemistry? 5. What does it mean to be a good chemist? 6. What are the operations functions? 7. What is chemistry? 8. Why did you choose YSTU for studying? 9. What is definition of atom? 10. What is the difference between theory and hypothesis? 11. Do you support the idea that chemistry is the science of the future? 12. What factors determine the actual development of modem chemistry? 13. What properties show water to be a unique liquid? 14. What is the structure of water interesting for? 15. Do you know any Russian chemical companies which are known worldwide? 16. What factors is the boiling point of a liquid dependent on? 17. What units of pressure do you know? 18. What substances were regarded as bases in the 17th century? 19. What are the characteristic properties of acids? 20. What is dissociation? 21. What are the main states of matter? 22. What factors determine the properties of liquids? 23. Is there any difference in the density of solids, liquids and gases 24. Why is it difficult to give a definition of a solution? 25. What are the properties of electrolyte solutions depend on? 26. What knowledge helped chemists to build up theories of solutions? 27. What fundamental conclusion made it possible to investigate electrolyte solu-tions successfully?   
Ш8D@ 8 A>45@60=85 :><?5B5=F88 �=48:0B>@ :><?5B5=F88 

(H8D@, A>45@60=85) !><5@0 
2>?@>A>2 (87 ?@54-
AB02;5=-
=>3> 
A?8A:0) 

'К-4. !CBEB59A CD<@9AOFP EB6D9-
@9AAO9 >B@@GA<>4F<6AO9 F9IAB?B-
7<<, 6 FB@ K<E?9 A4 <ABEFD4A-
AB@(OI) O;O>9(4I), 8?O 4>489@<K9-
E>B7B < CDBH9EE<BA4?PAB7B 6;4<@B-
89=EF6<O. 'К-4.1, 'К-4.2, 'К-4.3, 'К-4.4. 1-27  
�@8B5@88 >F5=:8: 
• 2;045=85 B5@<8=>;>3859 48AF8?;8=K; 
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• C<5=85 3@0<>B=> 8=B5@?@5B8@>20BL B5>@5B8G5A:89 <0B5@80;, 4020BL ?>OA-
=5=8O (?@8<5@K), 8A?>;L7>20BL @07;8G=K5 D>@<K <KA;8B5;L=>9 45OB5;L=>AB8 
(0=0;87, A8=B57, >F5=820=85, A@02=5=85, >1>1I5=85 8 B.?.); 
• 3@0<>B=0O, ;0:>=8G=0O, 4>ABC?=0O 8 ?>=OB=0O @5GL 8 4@. 
�F5=>G=0S H:0;0 
"F5=:0 "�B;8G=>" 2KAB02;O5BAO, 5A;8 ABC45=B ?>;=> @0A:@K; A>45@60=85 <0-
B5@80;0; <0B5@80; 87;>65= 3@0<>B=>, 2 >?@545;5==>9 ;>38G5A:>9 ?>A;54>20-
B5;L=>AB8; ?@>45<>=AB@8@>20=> A8AB5<=>5 8 3;C1>:>5 7=0=85 ?@>3@0<<=>3> <0-
B5@80;0; ?>:070=> C<5=85 8;;NAB@8@>20BL B5>@5B8G5A:85 ?>;>65=8O :>=:@5B-
=K<8 ?@8<5@0<8, ?@8<5=OBL 8E 2 =>2>9 A8BC0F88; ?@>45<>=AB@8@>20=> CA2>5-
=85 @0=55 87CG5==KE A>?CBAB2CNI8E 2>?@>A>2, AD>@<8@>20==>ABL 8 CAB>9G8-
2>ABL :><?5B5=F89, C<5=89 8 =02K:>2; >B25B ?@>72CG0; A0<>AB>OB5;L=>, 157 
=02>4OI8E 2>?@>A>2; 4>?CI5=K >4=0-425 =5B>G=>AB8. 
"F5=:0 "%>@>H>" 2KAB02;O5BAO, 5A;8 ABC45=B 87;0305B <0B5@80; A8AB5<0B878-
@>20=> 8 ?>A;54>20B5;L=>; ?@>45<>=AB@8@>20; C<5=85 0=0;878@>20BL <0B5@80;, 
?@>45<>=AB@8@>20; CA2>5=85 >A=>2=>9 ;8B5@0BC@K, => ?@8 MB>< 8<55B >48= 87 
=54>AB0B:>2: 2 87;>65=88 4>?CI5=K =51>;LH85 ?@>15;K, =5 8A:0782H85 A>45@-
60=85 >B25B0; 4>?CAB8; >48= - 420 =54>G5B0 ?@8 >A25I5=88 >A=>2=>3> A>45@60-
=8O >B25B0, 8A?@02;5==K5 ?> 70<5G0=8N ?@5?>4020B5;O; 4>?CAB8; >H81:C 8;8 
1>;55 42CE =54>G5B>2 ?@8 >A25I5=88 2B>@>AB5?5==KE 2>?@>A>2, :>B>@K5 ;53:> 
8A?@02;ONBAO ?> 70<5G0=8N ?@5?>4020B5;O. 
"F5=:0 "#4>2;5B2>@8B5;P=>" 2KAB02;O5BAO, 5A;8 ABC45=B =5?>;=> 8;8 =5?>-
A;54>20B5;L=> @0A:@K; A>45@60=85 <0B5@80;0, => ?>:070=> >1I55 ?>=8<0=85 
2>?@>A0 8 ?@>45<>=AB@8@>20=K C<5=8O, 4>AB0B>G=K5 4;O 40;L=59H53> CA2>5=8O 
<0B5@80;0; CA2>5=K >A=>2=K5 :0B53>@88 ?> @0AA<0B@8205<><C 8 4>?>;=8B5;L-
=K< 2>?@>A0<; 8<5;8AL 70B@C4=5=8O 8;8 4>?CI5=K >H81:8 2 >?@545;5=88 ?>-
=OB89, 8A?@02;5==K5 ?>A;5 =5A:>;L:8E =02>4OI8E 2>?@>A>2; ?@8 =5?>;=>< 7=0-
=88 B5>@5B8G5A:>3> <0B5@80;0 2KO2;5=0 =54>AB0B>G=0O AD>@<8@>20==>ABL :><-
?5B5=F89, C<5=89 8 =02K:>2, ABC45=B =5 <>65B ?@8<5=8BL B5>@8N 2 =>2>9 A8BC-
0F88. 
"F5=:0 "�5C4>2;5B2>@8B5;P=>" 2KAB02;O5BAO, 5A;8 ABC45=B =5 @0A:@K; >A=>2-
=>5 A>45@60=85 CG51=>3> <0B5@80;0; >1=0@C65=> =57=0=85 8;8 =5?>=8<0=85 
1>;LH59 8;8 =081>;55 206=>9 G0AB8 CG51=>3> <0B5@80;0; 4>?CI5=K >H81:8 2 
>?@545;5=88 ?>=OB89, ?@8 8A?>;L7>20=88 B5@<8=>;>388, :>B>@K5 =5 8A?@02-
;5=K ?>A;5 =5A:>;L:8E =02>4OI8E 2>?@>A>2, =5 AD>@<8@>20=K :><?5B5=F88, 
C<5=8O 8 =02K:8.  

"8?>2O5 7040=8S (7040G8) 
4;S Q:70<5=0 / 70G5B0  

"8?>2O5 7040=8S (7040G8)5: TEST TEXTS 
"8?>2O5 7040=8S : 70G5B0< 2 1 - 2 A5<5AB@0E: PETS ARE GOOD FOR US 



10  
Perhaps the British are too good to their pets, but more interesting is a recent theory amongst psychologists that pets are very good for us. The basic meaning of <pet= is an animal we keep for emotional rather than economic reason. A pet animal is kept as a companion, and we all need companions to keep us feeling happy. But pets offer us more than mere companionship; they invite us to love and be loved. Many owners feel their pets understand them, for animals can easily feel anger and sorrow. Often a cat or dog can comfort us at times when human words don't help. We feel loved too; by the way pets depend on us for a home, for food and drink. Dogs especially look up to their owners, which make them feel important and needed. A pet can be something different to each member of the family, another baby to the mother, a sister or brother to an only child, a grandchild to the elderly, but for all of us pets provide pleasure and companionship. It has even been suggested that tiny pets should be sent as companions to astronauts on spaceships, to help reduce the stress and loneliness of space flights. In this Plastic Age when most of us live in large cities, pets are particularly important for children. A pet in the family keeps people in touch with the more natural, animal world. Seeing an animal give birth brings understanding of the naturalness of child-birth. Learning to care for a pet helps a child to grow up into a loving adult who feels responsible towards those people who depend on him. It's right that we teach children to be good to their pets. They should learn, too, that pets are good for us human beings. GARDENING The love of gardens is deep-rooted in the British people. Listen to men's conversation in the 8,18 on Monday morning and later, to the chatter at the office and the factory. It will be about gardens. It will be of jobs done despite the difficult week-end weather; of seeds sown; of progress made. There will be discussion of the best methods of grow-ing cucumbers and arguments about the best varieties to grow. There will be boasting and wonder, and disbelief, but each man will talk confidently of his own plot or garden which differs from all the others, and which is the place where he himself an individual and different from other man. The British like making things grow whether it is in a window-box outside the kitchen, or in the dream garden of many acres. Some take infinite pains with each seedling and will manure and dust and spray to encourage it and to ward off all of the myriad dangers that threaten each cherished growth; each rose or cabbage will be a miracle of nature's 
work and man9s but seemingly with nature only a fair second. Others, green-fingered geniuses, will act with instructive abandon and create a garden envied by all the neigh-bors. You will seldom see a suburban garden neglected. Pride and fear of local talk see to this, but more than anything it is due to the simple and inherent wish to make a garden. It will be made wherever opportunity offers: in a box in a back-yard, in virgin soil around a prefabricated house, in the devastation of bomb damage, and where there is no space around houses it will be in an allotment. 6. What do you think? 7. Gardening is the most people favorite leisure activity, isn't it? 
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8. Most people live a lot of their lives outdoors, enjoy sports, swimming and having barbecues, don't they? And you? 
"8?>2O5 7040=8S : 70G5BC 2 3- 4 A5<5AB@0E: Texts to be translated with a dictionary Text 1. The Metropol Parasol in Seville Read and make a written translation of the following text into Russian. Forty five minutes are at your disposal. The Metropol Parasol actually is a device for revitalizing the Plaza de la Encarnacion, for years used as a parking lot and seen as a dead spot between more popular tourist destinations in the city. The Parasol contains a market, shops, and a podium for con-certs and events. In its basement are the ruins of a Roman district, with mosaics and enough bits of wall to get a sense of what the houses were like. On the roof there is a restaurant, a viewing gallery, and a winding, undulating walkway - a sort of pedestrian rollercoaster - from which to appreciate the views gained by rising slightly above the general roofline of the city. The creator of this unusual building was JUrgen Mayer H, a rising Berlin-based archi-tect, now aged 45. Mayer started off as an artist, and still sees art and architecture as similar, being both about the interrelation of human bodies and space. He is interested in the world of the digital, and has created wallpaper based on the security patterns printed inside envelopes. His buildings have the complex shapes, with non-repeating elements, that computerized design and construction make possible: no two parts of the Parasol are identical. The idea of the Parasol was to make shade, a valuable commodity in a city as hot as Seville, and so make the square more habitable. To avoid disturbing the Roman ruins, columns supporting the roof could only come down in a few places, requiring ambi-tious structure - designed with the help of the engineers Arup - to span the gaps between them. From these conditions came the trunklike uprights, big enough to contain lifts and stairs, and a structural system using laminated timber and steel, held together with high-performing glue, tested to ensure it would withstand the highest imaginable tem-peratures in this spot. Among the project's boasts is that it is the world's biggest build-ing to be held together by glue. 
Mayer says the forms of his building were inspired by the vaults of Seville9s expansive cathedral - he wanted to create a "cathedral without walls" that would be "democratic" - and also by the handsome trees already in the square. The building, seen from some angles, a wonderful thing, daring, inventive, determined and impressively consistent. It is also wonderful in its content, this stacking up of past, present and future, of ruins, market, performance space and sky deck. But it has a prob-lem, which is that these two forms of wonderfulness do not connect, with each other or with their surroundings. http://www.guardian.co.uk/artanddesign/2011/mar/27/metropol-parasol-seville-maver-review 
Text 2. Suzhou Children’s Hospital 

http://www.guardian.co.uk/artanddesign/2011/mar/27/metropol-parasol-seville-maver-review
http://www.guardian.co.uk/artanddesign/2011/mar/27/metropol-parasol-seville-maver-review
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Read and make a written translation of the following text into Russian. Forty five minutes are at your disposal. International architecture practice HKS shared with us their proposal for the Suzhou Children9s Hospital Competition in China. The program includes a 94,800 sqm chil-
dren9s hospital with 600 beds in the initial phase including over 7,000 sqm for outpa-
tient clinics, 14 OR9s, a full service emergency department, imaging, and required sup-port. Other major program elements include a teaching/research and administration fa-cility, staff housing, a separate infectious disease facility, and initial parking for 800 cars. Kites have always delighted children for centuries. It is believed that kites originated in China over 2800 years ago. Their bright colors and shapes soaring through the sky bring wonder and joy to children of all ages. Suzhou Childrens Hospital has its own very large kite that soars over the garden and play areas. This kite provides cover and protection from the sun and rain, adding color and delight to the children and their families. The water garden at Suzhou Childrens Hospital recalls a long tradition of the water gardens in Suzhou, known for their beauty and tranquility. The water features also pro-vide a visual connection to the canals of Suzhou, the Venice of the East. The project abuts canals on the south and east sides. The architecture of the hospital reinforces this tie to the fluidity of the water in the gardens and canals, and the fluidity of a kite soar-ing. The curves are visually appealing, like waves of water or currents of air. Bands of 
color will be interspersed on the building9s facade to further designate the hospital as a place for children and their families. This new replacement hospital has been designed with all the latest concepts in pedi-
atric healthcare delivery. The design9s imagery puts at ease the stress and fears of pa-tients and their parents. Spaces are designed with the emotional and physical needs of this unique population. Infusion of natural light, well-planned clinical areas and access to multiple outside areas offer relief from anxiety and stimulates patient health. Patients will arrive on foot, by bus, by bicycle, and automobile across a bridge that spans a below grade healing garden specifically designed for children and their parents arriving in a spacious multilevel space that provides easy way-finding and access into all areas of the hospital. The use of escalators will speed the patients to the clinical areas. Each floor of the facility will have patient registration, cashier and pharmacy thus reducing congestion and unnecessary traffic patterns. The Chinese culture believes in natural light and air as a major component of healthcare delivery. All the patient rooms face south with the ability for natural ventilation. Gar-den courtyards will provide natural light and air to the diagnostic and clinical functions of the hospital. The project will incorporate cool roof technology and green roofs. http://www.archdailv.com/108031 /suzhou-childrens-hospital-hks/      

http://www.archdailv.com/108031_/suzhou-childrens-hospital-hks/
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"8?>2O5 :>=B@>;P=O5 7040=8S (7040G8)6: CLASSWORK Reading 2(A) FROM THE HISTORY OF BUILDING Read the text below and translate it: Many thousands of years ago there were no houses such as people live in today. In hot countries people sometimes made their homes in the trees and used leaves to protect themselves from rain or sun. In colder countries they dwelt in caves. Later people left their caves and trees and began to build houses out of different materials such as mud, wood or stones. Later people found out that bricks made of mud and dried in the hot sunshine became almost as hard as stones. In ancient Egypt especially, people learned to use these sun-dried mud bricks. Some of their buildings are still standing after several thousands of years. The ancient Egyptians discovered how to cut stone for building purposes. They erected temples, palaces and huge tombs. The greatest tomb is the stone pyramid of Khufu, king of Egypt. The ancient Egyptians often erected their huge constructions to com-memorate their kings or pharaohs. The ancient Greeks also understood the art of building with cut stone, and their build-ings were beautiful as well as useful. They often used pillars, partly for supporting the roofs and partly for decoration. Parts of these ancient buildings can still be seen today in Greece. 
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Whereas the ancient Greeks tried to embody the idea of harmony and pure beauty in their buildings, the Roman architecture produces the impression of greatness, might, and practicalness. The Romans were great bridge, harbour and road builders. In road works the Romans widely used timber piles. They also erected aqueducts, reservoirs, water tanks, etc. Some of their constructions are used till now. It is known that the manufacture of lime is one of the oldest industries used by man. Lime is a basic building material used all over the world as today so in the ancient world. One of the Romans, Marcus Porcius Cato, gave an idea of a kiln for lime, production: it's shape and dimensions. They are rough cylindrical or rectangular structures, built of stone in a hillside with an arched caning at the front to enable the fire to be made and the lime to be withdrawn. Such kilns were fired with wood or coal and were extremely inefficient. There are still many remains of kilns in some places of Great Britain as well as roads and the famous Ha-drian Wall, which was erected to protect the Romans from the Celtic tribes in the first century A.D. Britain was a province of the Roman Empire for about four centuries. There are many things today in Britain to remind the people of the Romans: towns, roads, wells and the words. By the way, Hadrian, the Roman emperor, was also the one who suggested the abso-lutely new for that time idea of building the Pantheon with a dome. He constructed it, and alongside with a number of other outstanding buildings such as the Colosseum and the Baths of Caracalla, it is still there in Rome. Many ancient buildings in Rome were designed by Hadrian as well as by other Roman emperors. In a period of 800 to 900 years the Romans developed concrete to the position of the main structural material in the empire. It is surprising, therefore, that after the fall of the Empire, much of the great knowledge should have disappeared so completely. The knowledge of how to make durable con-crete has been lost for centuries, but mention was made of it in the writings of architects from time to time. Fusion of Roman and North European traditions in construction was reflected in many ways. Buildings combined the Roman arch and the steep peaked roof of Northern Eu-rope. Roman traditions were continued in the architectural form known as Rom-anesque. London Bridge, finished in 1209, took thirty-three years to build. It consisted of nineteen irregular pointed arches with its piers resting on broad foundation, which was designed to withstand the Thames current. The Romanian period was followed by other periods each of which produced its own type of architecture and building materials. During the last hundred years many new methods of building have been discovered. One of the most recent discoveries is the usefulness of steel as a building material. Nowadays when it is necessary to have a very tall building, the frame of it is first built in steel and then the building is completed in concrete. Concrete is an artificial kind of stone, much cheaper than brick or natural stone and much stronger than they are the earliest findings of concrete building fragments belonging to prehistoric times were discovered in Mexico and Peru. The Egyptians in the construction of bridges, roads and town walls employed it. There are evidences that ancient Greeks also used concrete in the building purposes. The use of concrete by the ancient Romans can be traced back 
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as far as 500 B.C. They were the first to use it throughout the ancient Roman Empire on a pretty large scale and many constructions made of concrete remain till nowadays thus proving the long life of buildings made of concrete. Of course, it was not the con-crete people use today. It consisted of mud, clay and pure lime, which were used to hold together the roughly broken stone in foundations and walls. It was the so-called "pseudo concrete". The idea of such building material might have been borrowed from the ancient Greeks as some samples of it were found in the ruins of Pompeii. Exercise 1 Answer the questions: 14. What were the first construction materials? 15. How did ancient Egyptians build their houses? 16. How did ancient Greeks build their houses? 17. How did ancient Romans build their houses? 18. What are the construction materials nowadays? 19. What are the evidences that people used concrete in the ancient times? Exercise 2 Find the corresponding Russian meaning of the international words: 
187=5A, B>@3>2;O, :><<5@G5A:0O 45OB5;L=>ABL :><<5@G5A:>5, B>@3>2>5 ?@54?@8-
OB85, D8@<0 (2K3>4=0O) A45;:0 45;>, 70=OB85, ?@>D5AA8O Exercise 3 Explain in English the meaning of the following words: 6) sun-dried mud bricks 7) timber piles 8) pseudo concrete 9) the ruins of Pompeii 10) harmony and pure beauty Exercise 4 Find in the text equivalent English phrases to the following Russian 11) 4>8AB>@8G5A:85 2@5<5=0 12) @8<A:89 ?5@8>4 13) 15A?>;57=>ABL 8A?>;L7>20=8O AB0;8 14) 2 :0G5AB25 AB@>8B5;L=>3> <0B5@80;0 15) 3@C1> >1B5A0==K9 :0<5=L 16) >=8 ?5@2K<8 8A?>;L7>20;8 17) =5402=85 >B:@KB8O 18) 4>2>;L=> 2 H8@>:8E <0AHB010E  Grammar Focus: Modal Verbs Exercise 1 Choose the correct verb - go to see the doctor last week because I was very ill. (a) must (b) must to (c) had to - could bought that car but I didn't have enough money to pay for the petrol. (a) had (b) have (c) have to - go now because I am already late for my class. 
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(a) must (b) had (c) have may able to come to your party if I have the time. (a) be (b) being (c) being to - Do you clean the house every day or every week? (a) must (b) have (c) have to - speak French without a problem now because 1 have had many lessons. (a) may (b) can (c) have - They do their homework today because it is a holiday at the school. (a) must not (b) don't have (c) don't have to - help you with your shopping because you have a lot of bags. (a) ought (b) ought to (c) thought - When will you come and see us in our new house? (a) can (b) be able to (c) must - may go to Kiev next week because there is a very big exhibition there. (a) have (b) have to (c) had Exercise 2 Translate the sentences into English. 1. �K 4>;6=K 1@>A8BL :C@8BL. 2. �5G5@8=:0 1K;0 70<5G0B5;L=0O. �0< A;54>20;> ?@89B8. 3. &K <>65HL @5H8BL MBC ?@>1;5<C. 4. &515 A;54C5B =025AB8BL A2>53> 1>;L=>3> 4@C30. 5. &515 A;54>20;> =025AB8BL A2>53> 1>;L=>3> 4@C30, => BK =5 =025AB8;. 6. !5 E>B8B5 5I5 G0O? 7. / 2K=C645= 1K; A45;0BL MB>. 8. / =5 7=0N, ?>G5<C <K A?5H8;8. !0< =5 =C6=> 1K;> A?5H8BL. 9. / 1K E>B5; ?>9B8 A B>1>9. 10. &K <>65HL 45;0BL 2A5, GB> E>G5HL. 11. ";L35 =C6=> C45;8BL 1>;LH5 2=8<0=8O 70=OB8O< ?> 0=3;89A:><C O7K:C. 12. / =5 C25@5=, => 2>7<>6=> >= =5?@02. 13. �<C @07@5H8;8 27OBL <0H8=C A2>53> >BF0 2 ?@>H;CN ?OB=8FC. 14. / <>3C AG8B0BL 4> 50 =0 8A?0=A:><. HOMEWORK Reading 2(B) Ancient Wonders of the World Read the text below and translate it: The Great Pyramid is the only one of the Seven Wonders of the Ancient World that still stands. It was built at the order of the Pharaoh Cheops, who once ruled Egypt. More than 100,000 slaves laboured for twenty years to build it. They had no machines, not even carts 4 all the work was done by human strength alone. Yet each huge block was so well laid that the Pyramid has stood for 5,000 years. Near the Great Pyramid in Egypt stands a huge sculptured rock called the Sphynx. The face is that of a man, perhaps the Pharaoh Khafre who had it built almost 5,000 years ago. But the body is that of a lion, and between its great stone paws is a small temple. 
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Since no one knows exactly why the Sphynx was built, it remains a symbol of mystery 
4 a riddle. In Babylon, one of the great cities of the Ancient World, there was a famous garden which amazed visitors for hundreds of years. It was called the Hanging Gardens, be-cause it was built along arches and towers and looked like a wall of flowers and green shrubs. The garden was kept alive by a hidden pool on the highest terrace, from which the water was drawn to appear in a series of fountains. The gardens were built by King Nebuchodnozzor, who is mentioned in the Bible as the cruel conqueror of Jerusalem. The greatest god of the ancient Greeks was Zeus, for whom the Roman name was called Jupiter. The greatest statue of Zeus was at Olympia, where the famous Olympic Games were held in its honour. The statue was 40 feet high 4 about seven times a man's height 
4 and was made of marble, decorated with pure gold and ivory. After 1,000 years, an earthquake tumbled it down. The temple of Artemis is one of the most famous temples of the ancient world. It stood for 600 years in Ephesus, a great city of Syria. The temple was sacred to Artemis, also called Diana, goddess of the moon. The finest sculptors and painters of Greece deco-rated this beautiful building, which was destroyed by the barbaric Goths. Only a few pieces of statues columns remained. They were dug up by modern scientists. Few remember the tiny kingdom of Caria, which once flourished in what is now south-western Turkey. But the name of its king, Mausolus, is known because of the word "mausoleum" 4 a massive tomb. The original Mausoleum, built in memory of this king by his widow, Queen Artemisia, was so magnificent that it was one of the Won-ders of the Ancient World. Rhodes, an island near Greece, was one of the richest and busiest towns of the ancient world. Standing across the entrance to its big harbour, was a huge statue of the sun god Helios, famous as the Colossus of Rhodes. Although ships sailed beneath these giant feet, the Colossus was not as large as the American Statue of Liberty. The most famous lighthouse in ancient times was the Pharos of Alexandria built by Alexander the Great. It guarded the harbour of Alexandria, in Egypt, and light atop a high tower could be seen for sixty miles. To keep the beacon the powerful electric lamps behind glass lenses used in our lighthouses were not yet. Exercise 1 Answer the questions 1) What is a mausoleum? 2) Who destroyed the Temple of Artemis? 3) Describe the Hanging Yardens. 4) Where was the greatest statue of Zeus? 5) What is Rhodes famous for? 6) Why was the Pharos built? Exercise 2 Divide the text into logical parts, name them and retell the text Exercise 3 Find more information about one of the ancient wonders and make a report about it Grammar Focus: Modal Verbs Exercise 1 
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Fill in may or can: ... 1 come in? 2. Let me look at your exercises. I ... be able to help you. 3. I ... not swim, because until this year the doctor did not allow me to be more than two minutes in the water. But this year he says 1 ... stay in for fifteen minutes if I like, so I9m going to learn to swim. 4. Libraries are quite free, and any one who likes ... get books there. 5. 1 ... come and see you tomorrow if I have time. 6. Take your raincoat with you: it... rain today. 7. Do you think you ... do that? 8.1 ... finish the work tomorrow if no one 
bothers me any more. 9. ... we come and see you next Sunday at three o9clock in the afternoon? 10. What time is it? - It ... - be about six o9clock, but I am not sure. 11. Only a person who knows the language very well ... answer such a question. Exercise 2 Fill in may(might) or can(could): ... you help me? 2. I ... imagine her speaking in public: I knew that she was so shy. 3. Something was wrong with the car: he ... not start it. 4. A fool ... ask more questions than a wise man ... answer. 5. She asked me if she ... use my telephone. 6. ... I use your pen? 7. ... I find a pen on that table? 8. You ... read this book: you know the language 
well enough. 9. You ... take this book: 1 don9t need it. 10. ... help you? 11. ... I ask you to help me? 12. The school was silent: nothing ... be heard in the long dark corridors. 13. Waiting ... be endless, you know. 14. ... you tell me the nearest way to the city museum? 15. They ... think that I am too weak to take part in the excursion, but I am strong enough to do any kind of hard work, indeed. 16. He knew this period of history very well: he had read everything on the subject he ... find in the rich university library.  
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AB02;5==>9 7040G8; 23. 3@0<>B=>5, ;0:>=8G=>5, ?>A;54>20B5;L=>5 87;>65=85 @5H5=8O 7040G8 2 A>-
>B25BAB288 A ?@8=OBK< 0;3>@8B<>< 8 ?@.; 24. =0E>645=85 ?@028;L=>3> @5H5=8O (>B25B0) 7040G8. 
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"F5=:0 "�5 70GB5=>" 2KAB02;O5BAO ABC45=BC, 5A;8 =5 @0A:@KB> >A=>2=>5 A>45@-
60=85 <0B5@80;0, >1=0@C65=> =57=0=85 >A=>2=KE ?>;>65=89 ?> B5<5 2>?@>A0. 
#@8ACBAB2CNB 3@C1K5 >H81:8. "B25B =0 2>?@>A >BACBAB2C5B  
"8?>2O5 B5AB>2O5 7040=8S 4;S B5:CI53> (8B>3>2>3>) :>=B@>;S ?> 48AF8-

?;8=5 
�@5<S =0 >B25B: >B 20 <8=CB 4> 60 <8=CB 
"5AB>2O5 7040=8S: 
�AB02PB5 25@=O9 20@80=B >B25B0 2<5AB> ?@>?CA:0: You do it today. You can do it tomorrow morning. 
a) needn't b) mustn't c) can9t d) shouldn't 6) Where is Jane? I9m tired waiting. a) with b) of c) about d) at 6) Littie children like books with large print. They read them easily. a) should b) must c) can d) have to - 1 Life has its ups and downs, nothing in life forever. a) is lasting b) was lasting c) last d) lasts - To tell truth, 1 didn't expect to see him. a) an b) the c) - d) a - The grass there was much than on the upper field. a) long b) more long c) the longest d) longer - The police to crack down people driving on drugs. a) are trying b) is trying c) was trying d) will trying - Children are selfish as their parents allow them to be. a) so b) such c) as d) not so - I'm afraid the problem is than it seems. a) much more complicated b) more less complicated c) the most complicated d) much complicated - last year Jim Cronin died of liver cancer. a) in b) 4 c) on d) at  
Ш8D@ 8 A>45@60=85 :><?5B5=F88 �=48:0B>@ :><?5B5=F88 

(H8D@, A>45@60=85) !><5@0 
7040=89 (87 ?@54-
AB02;5=-
=>3> 
A?8A:0) 



21  
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@9AAO9 >B@@GA<>4F<6AO9 F9IAB?B-
7<<, 6 FB@ K<E?9 A4 <ABEFD4A-
AB@(OI) O;O>9(4I), 8?O 4>489@<K9-
E>B7B < CDBH9EE<BA4?PAB7B 6;4<@B-
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 0745; (B5<0) 1 �E>4=>5 B5AB8@>20=85 
�><?5B5=F8S #�-4. %?>A>15= ?@8<5=OBL A>2@5<5==K5 :><<C=8:0B82=K5 B5E-
=>;>388, 2 B>< G8A;5 =0 8=>AB@0==><(KE) O7K:5(0E), 4;O 0:045<8G5A:>3> 8 ?@>-
D5AA8>=0;L=>3> 2708<>459AB28O. 
�=48:0B>@ :><?5B5=F88 '�-4.1, '�-4.2, '�-4.3, '�-4.4. 
�>?@>AO: 1) Wie heiBen Sie? 2) Wie alt sind Sie? 3) Wo sind Sie geboren? 4) Wann sind Sie geboren? 5) Haben Sie Geschwister? Wenn ja, wie jung sind sie? 
 0745; (B5<0) 2 !BC45=G5A:0S 687=P 8 2OAH55 >1@07>20=85 2  >AA88 8 <8@5 
�><?5B5=F8S #�-4. %?>A>15= ?@8<5=OBL A>2@5<5==K5 :><<C=8:0B82=K5 B5E-
=>;>388, 2 B>< G8A;5 =0 8=>AB@0==><(KE) O7K:5(0E), 4;O 0:045<8G5A:>3> 8 ?@>-
D5AA8>=0;L=>3> 2708<>459AB28O. 
�=48:0B>@ :><?5B5=F88 '�-4.1, '�-4.2, '�-4.3, '�-4.4. 
�>?@>AO: 1) Was bezeichnet eine Hochschule? 2) Woraus besteht das Studium an einer deutschen Hochschule? 3) Wie wird das Wissen der Studenten an einer deutschen und russischen Hochschule geprilft? 4) Von went wird eine deutsche bzw. russische Hochschule geleitet? 5) Was ist ftlr das Studium en einer Hochschule erforderlich? 
 0745; (B5<0) 3 �;>10;870F8S 8 :C;PBC@=O5 10@P5@O 
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=>;>388, 2 B>< G8A;5 =0 8=>AB@0==><(KE) O7K:5(0E), 4;O 0:045<8G5A:>3> 8 ?@>-
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�>?@>AO: 1) Wie kOnnen die Menschen miteinander kommunizieren? 2) Ist es ftlr Sie schwer, eine Fremdsprache zu studieren? 3) Welche Sprachen spricht man in Deutschland, England, Frankreich, Italien, China, Japan? 4) Sprechen Sie gut deutsch? 5) Welche deutschsprachigen Landem kennen Sie? 
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�>?@>AO: 1) Welche bertlhmte Wissenschaftler kennen Sie? 2) Welche der Wissenschaftler bewundern Sie am meisten? Warum? 3) Welche bertlhmten Erfinder kennen Sie? 4) Gibt es einen Unterschied zwischen Wissenschaftler und Erfinder? 5) Nennen Sie die bedeutendsten Erfinder aus dem 20., 21 Jahrhundert. 
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�=48:0B>@ :><?5B5=F88 '�-4.1, '�-4.2, '�-4.3, '�-4.4. 
�>?@>AO: 1) Welchen Beruf haben Sie gewahlt? 2) Welches Wissenschaftsgebiet haben Sie gem? 3) 1st es eine einfache Sache, einen Beruf aus mehr als 2000 bestehenden in der Welt zu wahlen? 4) Warum haben Sie Technik und Wirtschaft gewahlt? 5) Warum haben Sie Ihren zuktlnftigen Beruf gem? 
 0745; (B5<0) 6 �A=>2O A?5F80;P=>AB8 
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D5AA8>=0;L=>3> 2708<>459AB28O. 
�=48:0B>@ :><?5B5=F88 '�-4.1, '�-4.2, '�-4.3, '�-4.4. 
�>?@>AO: 1) Welchen Beruf haben Sie gewahlt? 2) Welches Wissenschaftsgebiet haben Sie gem? 3) Ist es eine einfache Sache, einen Beruf aus mehr als 2000 bestehenden in der Welt zu wahlen? 4) Warum haben Sie Technik und Wirtschaft gewahlt? 
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5) Wanim haben Sie Ihren zuktlnftigen Beruf gem? 
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�=48:0B>@ :><?5B5=F88 '�-4.1, '�-4.2, '�-4.3, '�-4.4. 
�>?@>AO: 1) Was bedeutet das Wort "nachhaltig"? 2) Was ist Okologie? 3) Was bedeutet nachhaltige Produktion? 4) Was bedeutet nachhaltiger Konsum? 5) Was sind die primaren Ziele der nachhaltigen Okologie? 
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=88 B5>@5B8G5A:>3> <0B5@80;0 2KO2;5=0 =54>AB0B>G=0O AD>@<8@>20==>ABL :><-
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"F5=:0 "�5C4>2;5B2>@8B5;P=>" 2KAB02;O5BAO, 5A;8 ABC45=B =5 @0A:@K; >A=>2-
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87;>65=85 <0B5@80;0 8 =5 A>45@60B 3@C1KE >H81>:. 
"F5=:0 "!5 70GB5=>" 2KAB02;O5BAO ABC45=BC, 5A;8 =5 @0A:@KB> >A=>2=>5 A>45@-
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#@8ACBAB2CNB 3@C1K5 >H81:8. "B25B =0 2>?@>A >BACBAB2C5B  

�>?@>AO 4;S 70G5B0   
"8?>2O5 2>?@>AO: 1. In welchem Studienjahr studieren Sie? 2. An welcher Fakultat studieren Sie? 3. Wie ist Ihre Fachrichtung? 4. Welche Rolle spielt der Baufacharbeiter im Bau? 5. Welche Spezialisierungsrichtungen hat dieser Beruf? 6. Was bedient der Bauarbeiter bei seiner Arbeit? 7. Wortlber muss er gute Kenntnisse haben? 8. Was sind die wichtigsten Erzeugnisse? 9. Welche Arbeiten filhrt der Bauschaffende aus? 10. Was hat den Beruf des Bauarbeiters in der letzten Zeit verandert? 11. Welche Aufgaben auBer dem Bau erfilllt er? 12. Welche Arten von Bauten unterscheidet man nach dem funktionalen Prinzip? 13. Welche Bauwerke stehen unter Denkmalschutz? 14. Wie errichtet man ein modemes Gebaude? 15. Welche Methoden wenden die Architekten an? 16. Wie mtlssen die Bauwerke sein? 17. Welche Aufgabe steht vor dem Stadtebau? 18. Welche Bauwerke halten Sie fur die architektonisch schonsten in Ihrer Stadt?          
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"8?>2O5 7040=8S (7040G8)8: 28. Lesen Sie den Text ,,Bauwesen< (Aufgabe 1) 29. Beantworten Sie folgende Fragen zum Text. (Aufgabe 2) 30. Ergdnzen Sie die Satze (Aufgabe 3) 31. Bestatigen Sie oder verneinen Sie folgende Satze (Aufgabe 4) 32. Nennen Sie deutsche Aquivalente folgender Termini. Gebrauchen Sie diese in kurzen Satzen (Aufgabe 5) 33. Finden Sie unter den Satzen jene, deren Pradikate im Passiv stehen. Bestimmen Sie die Zeitform des Passivs und iibersetzen Sie diese Satze (Aufgabe 6) 34. Beantworten Sie die Fragen, gebrauchen Sie dabei die in Klammem stehenden Wortgrup- pen (Aufgabe 7) Aufgabe 1: Lesen Sie den Text mit dem Wdrterbuch Bauwesen Das Bauwesen ist ein wichtiger volkswirtschaftlicher Industriezweig, dem die Bau-matenaliemn- dustrie die nOtigen Baustoffe liefert. Dabei kommt es darauf an, nicht nur mehr, sondem auch neuere, bessere und leichtere Baustoffe zu erzeugen, die filr groBformatige Bauelemente geeig- net und damit auch filr das industrielle Bauen ver-wendbar sind. Das betrifft besonders das Gebiet des Betonbaues. Aber auch auf an-deren Gebieten, z. B. dem der Plastbaustoffe wird standig Neues und Besseres entwick-elt und verwendet. Jeder Baustoff soli an der richtigen Stelle eingesetzt werden, d. h. er soli die Anforder-ungen er- fullen, die an ihn, an das Bauwerk gestellt werden. Dem mtlssen die Eigen-schaften des Baustof- fes entsprechen. Zu den wichtigsten Forderungen im Bauwesen gehOrt es, die Bauten gegen Wit- terungseinflllsse, vor allem gegen Feuchtigkeit (Grundwasser und Regen) besonders sicher zu schtitzen. Baustoffe haben verschiedene Aufgaben im Bauwerk zu erfilllen. Die Sperrstoffe ha-ben die Aufgabe, das Eindringen von Feuchtigkeit in das Bauwerk zu verhindem. Unter Dammstoffen versteht man die Baustoffe, die geeignet sind, die Weiterleitung von Warme und Schall mOg- lichst weitgehend zu verhindem. Es gibt Baustoffe, die nur zur Warmedammung oder zur Schalldammung eingesetzt werden. Viele Dammstoffe sind jedoch far beide Zwecke brauchbar. Die Bedeutung einzelner Baustoffe andert sich mit der Zeit. Frilher errichtete man Gebaude hauptsachlich aus Ziegeln. Man verwendete auBerdem Holz, Sand, natUrli-che Gesteine, Kalk usw. Heute werden Beton und Plastbaustoffe immer wichtiger. Die Baufachleute aber sind der Ansicht, dass solche alten Baustoffe wie Ziegelsteine trotz 
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der zunehmenden Industrialisierung des Bauens noch sehr lange groBe Bedeutung ha-ben werden. Von alien Bindemitteln haben die Zemente die grOBte Bedeutung fllr die Bauindustrie. Je nach der Zusammensetzung der Rohstoffe sowie deren Aufbereitung kennen wir mehrere Zementar- ten mit teilweise unterschiedlichen Eigenschaften. Die am meisten verwendeten Normenzemente sind Portlandzement, Hochofenzement, Sulfathtlttenze-ment. Die Bedeutung der leichten Zuschlagstoflfe ist in den letzten Jahren besonders gestiegen, weil sie zum Herstellen von Leichtbeton, insbesondere filr die Plattenbau-weise und filr die Wandelemen- te im Ausbau notwendig sind. Ohne Beton und Stahlbeton ist heute kein groBes Bauvorhaben mehr denkbar, aber auch im Wohnungs-bau ist der Beton durch das industrielle Bauen zum Hauptbaustoff geworden. Metalle haben im Bauwesen von jeher eine groBe Rolle gespielt, und zwar vorwiegend in Form von Legierungen. Eisen und Stahl verwendet man meist filr tragende Bauteile (z.B. profilierte Trager), filr Verbindungsmittel und filr Installationen (Gas, Wasser, Zentralheizung). Besonders wichtig ist der Stahl filr den Stahlbeton geworden. Alle Baumctalle sind wertvolle Werkstoffe filr die Bauindustrie. Gias wird heute als Bau- und Schmuckelement verwendet. Daraus werden vielfarbige hohe GlasblOcke filr AuBen- und Innenwande hergestellt, sie sind sehr feuerfest und je nach Farbung, lichtdurchlassig. Aus Gias als Rohstoff werden Glasfasem zur Isola-tion von FuBbOden hergestellt. Zur richtigen Verwendung der Baustoffe ist die Kenntnis deren Eigenschaften von groBer Bedeutung. Diese Kenntnisse liefert uns die Wissenschaft Baustoffkunde. Aufgabe 2: Beantworten Sie folgende Fragen zum Text. 1. Welche Bedeutung hat das Bauwesen? 2. Welche Bedeutung hat die Baustoffindustrie? 3. Wie unterscheidet man die Baustoffe nach ihrer Aufgabe im Bauwerk? 4. Welche Baustoffe spielen heute im Bau eine besonders wichtige Rolle? 5. Welche Baustoffe sind filr die Herstellung dertragenden Konstruktionen geeignet? 6. Welche Baustoffe sind als Werkstoffe filr die Bauindustrie geeignet? 7. Welche Baustoffe verwendet man als Ausbaumaterial? als Schmuckelemente? 8. Aus welchem Baumaterial werden Installationselemente hergestellt? 9. Warum ist die Bedeutung der leichten Zuschlagstoffe besonders gestiegen? 10. Welche Anforderungen mtlssen beim Einsatz der Baustoffe erfilllt werden? Aufgabe 3: Erganzen Sie die Satze. 1. Die Baustoffindustrie liefert dem Bauwesen .... 2. Die Qualitdt... ist von groBer Bedeutung. 3. Jeder Baustoff erfilllt... im Bauwerk. 4. Beim Bau eines Gebaudes verwendet man .... 5. Fllr die Bauindustrie haben Zemente .... 6. Eine breite Verwendung finden ... im Bauwesen. 7. Beton ist im Wohnungsbau ... geworden. 8. Eisen und Stahl verwendet man filr.... 9. Aus Gias werden ... hergestellt. 
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10. Die Kenntnis der Eigenschaften der Baustoffe .... Aufgabe 4: Bestatigen Sie Oder verneinen Sie folgende Satze. 1. Das Bauwesen ist ein wichtiger volkswirtschaftlicher Industriezweig. 2. Die Baustoffe sollen die entsprechenden Anforderungen erfilllen. 3. Die Baustoffe erfilllen unterschiedliche Aufgaben in Bauwerk. 4. Mit der Zeit andert sich die Bedeutung der Baustoffe nicht. 5. Zemente haben filr die Bauindustrie eine groBe Bedeutung. 6. Die leichten Zuschlagstoffe spielen in den letzten Jahren eine groBe Rolle. 7. Im Wohnungsbau wird der Beton oft verwendet. 8. Metalle werden in Form von Legierungen ausgenutzt. 9. Gias ist ein Bau- und Schmuckelement. 10. Man muss die Eigenschaften der Baustoffe gut kennen. Aufgabe 5: Nennen Sie deutsche Aquivalente folgender Termini. Gebrauchen Sie diese in kurzen Satzen. 
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A?;02, 45:>@0B82=K9 M;5<5=B, C25;8G820BLAO, 3>48BLAO, ?@54JO2;OBL B@51>20=8O, 
?@5?OBAB2>20BL. Aufgabe 6: Finden Sie unter den Siitzen jene, deren PrBdikate im Passiv stehen. Bestimmen Sie die Zeitform des Passivs und iibersetzen Sie diese Siitze. 1. Bei der Konstruktion eines Okologischen Hauses wird der Baustoff Holz ver-wendet. 2. Ftlr den Innenausbau sind die neuen Baustoffe sehr praktisch. 3. Vor 2 Jahren waren in dieser StraBe einige Hochhauser gebaut worden. 4. Beim Bau dieses Hauses werden die Bauarbeiter neue Baustoffe verwenden. 5. Nach der Absolvierung der technischen Universitat wurde er Ingenieur. 6. Das Haus ist im vorigen Jahr errichtet worden. 7. Neue Werkstoffe werden aus Holzabftllen hergestellt werden. 8. FUr Warme- und Schalldammzwecke wurden die leichten porigen Flatten ver-wendet. 9. Die Bauarbeiter miissen mit dem Bau dieses Hauses in einem Monat fertig werden. Aufgabe 7: Beantworten Sie die Fragen, gebrauchen Sie dabei die in Klammern stehenden Wortgruppen. 1. Von wem wird das Theatergebaude projektiert werden? (dieser bekannte Archi-tekt) 2. Wie lange wurden die Rekonstruktionsarbeiten durchgefilhrt? (im Laufe von 2 Jahren) 3. Wo wird ein modemes Jugendzentrum errichtet? (im Zentrum der Stadt) 4. Wann war der Zement von dem Englander Aspdin entdeckt worden? (im Jahre 1824) 5. Wofiir werden die Baustoffe von der Bauindustrie geliefert? (verschiedene Bereiche des Bau-wesens) 6. Was ist von den Bauschaffenden bei der Umgestaltung des Gebaudes benutzt werden? (die fortschrittlichen Technologien) 
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7. Wo werden die Konstruktionselemente hergestellt? (stationare Betonwerke) 8. Was war von diesem Projektbhro ausgearbeitet worden? (der neue Plan der Umgestaltung) 9. Welches Problem wird in den nachsten Jahren gelOst werden? (das Verkehr-sproblem) 10. Was wird dem Plan nach in unserer Stadt vorgesehen? (der Bau moderner und schOner Bau-werke)  
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"8?>2O5 :>=B@>;P=O5 7040=8S (7040G8)9: 1. Lesen Sie den Text <Betonzuschlagstoffe" (Aufgabe 1) 2. Bestatigen Sie Oder verneinen Sie folgende Satze (Aufgabe 2) 3. Gebrauchen Sie Aktiv statt Passiv und Passiv statt Aktiv (Aufgabe 3) 4. Antworten Sie auf folgende Fragen (Aufgabe 4) 5. Setzen Sie den Plan des Textes zusammen (Aufgabe 5) 6. Geben Sie den Inhalt des Textes kurz wieder. Verwenden Sie dabei folgende WOrter und Wendungen (Aufgabe 6)  Aufgabe 1: Lesen Sie den Text <Betonzuschlagstoffe" Betonzuschlagstoffe Die Zuschlagstoffe filr Schwerbeton milssen genUgend fest und wetterbestandig sein und dtirfen keine Stoffe enthalten, die die Erhartung beeintrachtigen, die Festigkeit mindem Oder die Be-wehrung von Stahl- und Spannbeton angreifen kdnnen. Die Komzusammensetzung soil so ge-wahlt werden, dass mOglichst dichter Beton ent-steht. Dazu treten noch weitere Bedingungen, die von den funktionellen Anforder-ungen an den Beton bestimmt werden. Bei StraBenbeton und hochbeanspruchten 
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Betonbelagen mussen die Betone beispielsweise hohe Schlagfestigkeit ha-ben, wahrend bei chemisch beanspruchtem Beton die Bestandigkeit gegenilber dem zu erwarten-den aggressiven Medium im Vordergrund steht. Die grOBte Bedeutung ha-ben Sand und Kies. Sie sind billiger zu gewinnen und aufzubereiten als Betonzuschlag-stoffe aus nattlrlichem Felsge-stein, die mechanisch zerkleinert werden mussen. Auch harte, glasige Schlacke (Hochofenschla-cke) und kUnstliche Produkte, wie Korund und Siliziumkarbid werden als Betonzuschlagstoffe verwendet. Nach der KorngrOBe unterscheidet man Betonsand, Brechsand (0,09 bis 2 mm), Be-tonkies, Splitt (2 bis 31,5 mm) und Grobkies, Schotter (31,5 bis 125 mm). Gemenge von Kies und Sand werden als Betonkiessand bezeichnet; Gemenge aus Splitt und Brechsand als Splitt-brechsand. Wird Splitt durch Brechen von Kies gewonnen, tragt er die Bezeichnung Kiessplitt. Als schadliche Bestandteile von Schwerbeton sind Schwefelverbindungen, Stoffe or-ganischen Ursprungs und mehlfeine Stoffe anzusehen. For Leichtbeton werden Leichtzuschlagstoffe verwendet. Das sind leichte porige Stoffe, die ent-weder in der Natur als poriges Material vorliegen (natUrliche Zuschlag-stoffe) Oder industriell hergestellt werden (kUnstliche Zuschlagstoffe). Zur ersten Gruppe gehOren vulkanische Aus-wurfgesteine, wie Naturbims und Lavaschlacke, sowie porige Kalkgesteine, wie Kalktuff. Die zweite umfasst thermisch aufgeblahte Naturgesteine, wie Blahschiefer (Porensinter), Perlit (vul-kanisches Gias); geeignete gebrannte tonige Rohstoffe, wie Blahton, Ziegelsplitt, aus Industrie-produkten gewon-nene Zuschlagstoffe, wie HUttenbims (geblahte Hochofenschlacke), Aschensin-ter (gesintertes Asche-Ton-Gemisch), geschaumte Plastpartikel, wie Schaumpolystyrol. Die Eigenfestigkeit der Zuschlagstoffe muss mindestens gleich der geforderten Bet-onfestigkeit sein. Dabei handelt es sich vor allem urn Druckfestigkeit, aber auch urn die Zugfestigkeit. Man verwendet in der Praxis Gesteine, deren Festigkeit erheblich Uber der des Zements liegt. Aufgabe 2: Bestatigen Sie Oder verneinen Sie folgende Satze. 1. Die Zuschlagstoffe filr Schwerbeton mUssen folgende Eigenschaffen haben: ... 2. Die grOBte Bedeutung haben .... 3. Nach der KorngrOBe unterscheidet man .... 4. Als Betonzuschlagstoffe werden ... verwendet. 5. Die schadlichen Bestandteile von Schwerbeton sind .... 6. Leichtzuschlagstoffe werden ... verwendet. 7. Sie sind .... 8. Man unterscheidet... Zuschlagstoffe. 9. Die Eigenfestigkeit der Zuschlagstoffe muss ... sein. Aufgabe 3: Gebrauchen Sie Aktiv statt Passiv und Passiv statt Aktiv. 1. Die Anforderungen an den Beton mussen bestimmt werden. 2. Diese Ausstellung wurde von den Studenten gem besichtigt. 3. Man verwendet den Leichtbeton meist zur Herstellung von Wandelementen. 4. Die Plaste mit neuen Eigenschaften sind von den Bauschaffenden entwickelt worden. 5. Diese Baumethoden hatten die Arbeit der Erbauer erleichtert. 6. Der Student hat erfolgreich die Forschungsarbeit durchgefilhrt. 
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7. Veraltete Arbeitsmethoden durften im Wohnungsbau nicht mehr angewendet werden. 8. Das Tempo der Bauarbeiten muss man beschleunigen. 9. Man wird die Arbeitsorganisation auf ein hoheres Niveau bringen. 10. Die Bauarbeiter errichten mit jedem Jahr immer schOnere Bauwerke. Aufgabe 4: Antworten Sie auf folgende Fragen. 1. Welche Eigenschaffen mtlssen die Zuschlagstoffe filr Beton besitzen? 2. Wie soil die Komzusammensetzung gewahlt werden? 3. Welche Zuschlagstoffe haben die groBte Bedeutung filr die Herstellung des Bet-ons? 4. Welche Nebenprodukte der Industrie kOnnen als Zuschlagstoffe verwendet werden? 5. Wonach unterscheidet man Betonsand, Brechsand, Betonkies, Splitt, Grobkies, Schotter? 6. Welche Bestandteile von Schwerbeton sind als schadliche anzusehen? 7. Welche Zuschlagstoffe werden filr Leichtbeton verwendet? Aufgabe 5: Setzen Sie den Plan des Textes zusammen. Aufgabe 6. Geben Sie den Inhalt des Textes kurz wieder. Verwenden Sie dabei folgende Wdrter und Wendungen: fest, wetterbestandig, die Zuschlagstoffe fur Beton, Stoffe enthalten, Erhartung bee-intrachtigen, die Bewehrung angreifen; die Komzusammensetzung wahlen, dichter Beton, Sand, Kies; gewinnen, aufbereiten, billig, Hochofenschlacke, kUnstliche Produkte; KorngrOBe, unterscheiden, Betonsand, Brechsand, Betonkies, Grobkies, Splitt, Schotter; Leichtbeton, Leichtzuschlagstoffe, leicht, porig.  
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89=EF6<O. 'К-4.1, 'К-4.2, 'К-4.3, 'К-4.4. 

2A5  
�@8B5@88 >F5=:8: 40. C<5=85 A>AB028BL 0;3>@8B< @5H5=8O 7040G8; 41. C<5=85 8A?>;L7>20BL @07;8G=K5 D>@<K <KA;8B5;L=>9 45OB5;L=>AB8 (0=0-
;87, A8=B57, >F5=820=85, A@02=5=85, >1>1I5=85 8 B.?.); 42. C<5=85 ?@8<5=8BL B5>@5B8G5A:85 7=0=8O ?> 48AF8?;8=5 4;O @5H5=8O ?>-
AB02;5==>9 7040G8; 43. 3@0<>B=>5, ;0:>=8G=>5, ?>A;54>20B5;L=>5 87;>65=85 @5H5=8O 7040G8 2 
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A>>B25BAB288 A ?@8=OBK< 0;3>@8B<>< 8 ?@.; 44. =0E>645=85 ?@028;L=>3> @5H5=8O (>B25B0) 7040G8. 
"F5=:0 "�0GB5=>" 2KAB02;O5BAO ABC45=BC, 5A;8 >A=>2=>5 A>45@60=85 2>-?@>A0 
@0A:@KB>, 2 >B25B5 <>3CB A>45@60BLAO =5B>G=>AB8, :>B>@K5 2 F5;>< =5 2;8ONB =0 
87;>65=85 <0B5@80;0 8 =5 A>45@60B 3@C1KE >H81>:. 
"F5=:0 "�5 70GB5=>" 2KAB02;O5BAO ABC45=BC, 5A;8 =5 @0A:@KB> >A=>2=>5 A>45@-
60=85 <0B5@80;0, >1=0@C65=> =57=0=85 >A=>2=KE ?>;>65=89 ?> B5<5 2>?@>A0. 
#@8ACBAB2CNB 3@C1K5 >H81:8. "B25B =0 2>?@>A >BACBAB2C5B  
"8?>2O5 B5AB>2O5 7040=8S 4;S B5:CI53> (8B>3>2>3>) :>=B@>;S ?> 48AF8-

?;8=5 
�@5<S =0 >B25B: >B 20 <8=CB 4> 60 <8=CB 
"5AB>2O5 7040=8S: 1. WShlen Sie die richtige Variante. 1. Es sind anzuwenden, die hochst produktiv sind. a) Projekte b) Bauelemente c) Bauweisen 2. Die Anwendung der Bauweise aus ist viel produktiver als die der Ziegelbau-weise. a) Ziegel b) Betonfertigteilen c) traditionellen Baustoffen 3. Die Grundlage ftlr die erfolgreiche Durchfilhrung des Montagebaus ist . a) das Bauen nach Typenprojekten b) die Erhohung der Arbeitsproduktivitat c) das hohe Bautem-po 4. Die Typenprojektierung und die dadurch mbgliche Serienproduktion von sind filr die mo- deme Bauindustrie charakteristisch. a) MOrtel b) Bauelementen c) Zement 5. Jedes Bauwerk besteht aus bestimmten . a) Bauelementen b) Raumen c) Gebaudeteilen 6. Bracken, VerladebrUcken, Funkmaste gehOren zu den . a) Ingenierbauten b) gesellschaftlichen Bauten c) Wohnhausem 7. Der Bau des Gebaudes beginnt mit . a) der Baugrabe b) dem Bauprojekt c) dem Fundament 8. Zu den Typenprojekten werden zusatzlich ausgearbeitet, die alle technolo-gischen und tech- nischen Einzelheiten enthalten. a) Anforderangen b) MaBnahmen c) Arbeitsprojekte 2. Wahlen Sie die richtige Konjunktion. 1. Jetzt wissen wir ganz genau, Teilen das Gebaude besteht. a) dass b) was c) aus welchen d) welche 2. Die Montagebauweise findet eine weitgehende Verwendung, sie den Ar-beitsprozess wesentlich vereinfacht. a) wenn b) weil c) als d) warum 3. die Verputzer die Ausbauarbeiten durchfdhren, verglasen die Glaser die Fenster, a) wahrend b) bis c) da d) als 
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4. Die Bauarbeiter wissen, dieses Gebaude bis zum 1. Mai schlOsselfertig sein muss, a) ob b) was c) dass d) warum 5.  die Wande festig sind, werden die Deckenplatten aufgelegt. a) als b) wenn c) da d) - 6.  dieses Denkmal errichtet werden ist, sind viele Jahre vergangen. a) nachdem b) als c) solange d) seitdem 3. WShlen Sie das richtige Relativpronomen. 1. Beim Projektieren muss man den Zweck berUcksichtigen, das Gebaude erftlllen soil, a) der b) den c) dem d) mit dem 2. Das sind die Baustoffe,Eigenschaften uns noch nicht bekannt sind. a) dessen b) von denen c) deren d) die 3. Unter den vorgefertigten Bauelementen sind solche zu verstehen, im Bet-onwerk hergestellt sind. 
a) die b) deren A) denen d) das  
Ш8D@ 8 A>45@60=85 :><?5B5=F88 �=48:0B>@ :><?5B5=F88 

(H8D@, A>45@60=85) !><5@0 
7040=89 (87 ?@54-
AB02;5=-
=>3> 
A?8A:0) 

'К-4. !CBEB59A CD<@9AOFP EB6D9-
@9AAO9 >B@@GA<>4F<6AO9 F9IAB?B-
7<<, 6 FB@ K<E?9 A4 <ABEFD4A-
AB@(OI) O;O>9(4I), 8?O 4>489@<K9-
E>B7B < CDBH9EE<BA4?PAB7B 6;4<@B-
89=EF6<O. 'К-4.1, 'К-4.2, 'К-4.3, 'К-4.4. 

2A5  
�@8B5@88 >F5=:8: 45. A>1;N45=85 2@5<5=8, ?@54>AB02;5==>3> 4;O @5H5=8O B5AB>2KE 7040=89; 46. A;>6=>ABL B5AB>2KE 7040=89 (?@8 =0;8G88 7040=89 @07=>9 A;>6=>AB8); 47. 4>;O 2K?>;=5==KE B5AB>2KE 7040=89 70 >B2545==>5 2@5<O. 
"F5=:0 "�0GB5=>" 2KAB02;O5BAO ABC45=BC, 5A;8 25@=> 2K?>;=5=> 1>;55 70% 70-
40=89 B5AB0. 
"F5=:0 "!5 70GB5=>" 2KAB02;O5BAO ABC45=BC, 5A;8 25@=> 2K?>;=5=> <5=55 70% 
7040=89 B5AB0.        
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$ А�&#�!��� /�Ы�  

�>?@>AO 4;S A>15A54>20=8S 8 ?@0:B8G5A:8E @01>B / A0<>AB>SB5;P=>9 (4>-
<0H=59) @01>BO 

 0745; (B5<0) 1 �E>4=>5 B5AB8@>20=85 
�><?5B5=F8S #�-4. %?>A>15= ?@8<5=OBL A>2@5<5==K5 :><<C=8:0B82=K5 B5E-
=>;>388, 2 B>< G8A;5 =0 8=>AB@0==><(KE) O7K:5(0E), 4;O 0:045<8G5A:>3> 8 ?@>-
D5AA8>=0;L=>3> 2708<>459AB28O. 
�=48:0B>@ :><?5B5=F88 '�-4.1, '�-4.2, '�-4.3, '�-4.4. 
�>?@>AO: 1. Est- A5 que votre famille est nombreuse? Combien etes-vous? 2. Avez-vous des soeurs ou des freres? 3. Quel age avez -vous? Quel age ont vos parents? 4. Votre mere travaille- t-elle au dehors? Oil travaille-t-elle? 5. Est-ce que vous etes en bonne relations avec vos parents? Vous comprennent- ils toujours? 6. Est-ce qu'il vous arrive de vous disputer? Pourquoi? A quel sujet? 7. Aidez-vous vos parents? De quelle fa?on? 8. Qui est est responsible du budget famillial dans votre famille? 
 0745; (B5<0) 2 !BC45=G5A:0S 687=P 8 2OAH55 >1@07>20=85 2  >AA88 8 <8@5 
�><?5B5=F8S #�-4. %?>A>15= ?@8<5=OBL A>2@5<5==K5 :><<C=8:0B82=K5 B5E-
=>;>388, 2 B>< G8A;5 =0 8=>AB@0==><(KE) O7K:5(0E), 4;O 0:045<8G5A:>3> 8 ?@>-
D5AA8>=0;L=>3> 2708<>459AB28O. 
�=48:0B>@ :><?5B5=F88 '�-4.1, '�-4.2, '�-4.3, '�-4.4. 
�>?@>AO: 1. Est-ce l'enseignement superieur est publique et gratuit? 2. Y a-t-il des Universites privees? 3. A quelles conditions peut-on entrer a lUniversitc en Russie? 4. Combien d' annees durent les etudes a lUniversitc en Russie et en France? 5. Quelles facultes comprennent nos University? 6. Les etudiants, re?oivent-ils des bourses d' etudes? 7. Y a-t-il des residences universitaires pour les eetudiants arrives des autres re-gions? 8. Est-ce que l'enseignement superieur fran?ais se divise en 3 cycles? 
 0745; (B5<0) 3 �;>10;870F8S 8 :C;PBC@=O5 10@P5@O 
�><?5B5=F8S #�-4. %?>A>15= ?@8<5=OBL A>2@5<5==K5 :><<C=8:0B82=K5 B5E-
=>;>388, 2 B>< G8A;5 =0 8=>AB@0==><(KE) O7K:5(0E), 4;O 0:045<8G5A:>3> 8 ?@>-
D5AA8>=0;L=>3> 2708<>459AB28O. 
�=48:0B>@ :><?5B5=F88 '�-4.1, '�-4.2, '�-4.3, '�-4.4. 
�>?@>AO: 1. Pourquoi est important d' apprendre des langues etrangeres? 2. Dans quels pays le fran?ais est une langue ofFicielle? 3. Est-ce que le fran?ais est populaire en Russie? 4. Combien de langues parlez-vous? 5. Avez-vous lu quelques livres en franyais? 
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6. Avez-vous vu quelques films franfais en version originale? Est-ce que vous avez tout compris? 7. Avez-vous des diffucultcs dans l'etude du franQais? 8. Etes-vous a letranger? Quelle langue avez-vous parle? 
 0745; (B5<0) 4 �0CG=>-B5E=8G5A:89 ?@>3@5AA 
�><?5B5=F8S #�-4. %?>A>15= ?@8<5=OBL A>2@5<5==K5 :><<C=8:0B82=K5 B5E-
=>;>388, 2 B>< G8A;5 =0 8=>AB@0==><(KE) O7K:5(0E), 4;O 0:045<8G5A:>3> 8 ?@>-
D5AA8>=0;L=>3> 2708<>459AB28O. 
�=48:0B>@ :><?5B5=F88 '�-4.1, '�-4.2, '�-4.3, '�-4.4. 
�>?@>AO: 48. Qui et que a influence sur le choix de votre profession? 49. Dans quelle domaine est votre profession? 50. Est -ce difficile de choisir la profession parmi plus de 2000 existantes dans le monde entire? 51. Est- ce que vos parents soutiennent votre choix? 52. Que- ce que vous connaissez de votre future profession? 53. Quels sont les metiers de vos parents? 54. Est- ce que votre profession est interessant et modeme? 55. Pourquoi aimez- vous votre future profession? 
 0745; (B5<0) 5 �>S 1C4CI0S ?@>D5AA8S 
�><?5B5=F8S #�-4. %?>A>15= ?@8<5=OBL A>2@5<5==K5 :><<C=8:0B82=K5 B5E-
=>;>388, 2 B>< G8A;5 =0 8=>AB@0==><(KE) O7K:5(0E), 4;O 0:045<8G5A:>3> 8 ?@>-
D5AA8>=0;L=>3> 2708<>459AB28O. 
�=48:0B>@ :><?5B5=F88 '�-4.1, '�-4.2, '�-4.3, '�-4.4. 
�>?@>AO: 1. Quelle specialite obtenez-vous? 2. Quels sont les facteurs du succes? 3. Considerez -vous que l'intelligence est un element principale du succes? 4. Quels traits de caractere menent au succes? 5. Voulez-vous devenir 1'homme de succes? 6. Est-ce que f homme d'affaire doit avoir une pensee creative? 7. Conaissez-vous un celebre homme d'affaire en Russie ou a l etranger? 8. Decrivez cet homme, quel est son secret du succes? 
 0745; (B5<0) 6 �A=>2O A?5F80;P=>AB8 
�><?5B5=F8S #�-4. %?>A>15= ?@8<5=OBL A>2@5<5==K5 :><<C=8:0B82=K5 B5E-
=>;>388, 2 B>< G8A;5 =0 8=>AB@0==><(KE) O7K:5(0E), 4;O 0:045<8G5A:>3> 8 ?@>-
D5AA8>=0;L=>3> 2708<>459AB28O. 
�=48:0B>@ :><?5B5=F88 '�-4.1, '�-4.2, '�-4.3, '�-4.4. 
�>?@>AO: 1. Connaissez-vous I'histoire de la fondation de la science que vous etudiez? 2. Quand (quel siecle) la science etudiee est ne? 3. Nommez les pionniers dans la domaine de la science etudiee? 4. Nommez les celebres savants et ingenieurs en Russie et dans les autres pays? 
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5. Connaissez-vous les plus grandes entreprises industrielles dans notre ville, region, pays? 

 0745; (B5<0) 7 "5E=8G5A:89 ?@>3@5AA 8 Q:>;>38S 
�><?5B5=F8S #�-4. %?>A>15= ?@8<5=OBL A>2@5<5==K5 :><<C=8:0B82=K5 B5E-
=>;>388, 2 B>< G8A;5 =0 8=>AB@0==><(KE) O7K:5(0E), 4;O 0:045<8G5A:>3> 8 ?@>-
D5AA8>=0;L=>3> 2708<>459AB28O. 
�=48:0B>@ :><?5B5=F88 '�-4.1, '�-4.2, '�-4.3, '�-4.4. 
�>?@>AO: 1. Etes-vous interesse au travail scientifique? 2. Dans quelle domaine de la science voulez-vous de travailler? 3. Quels articles scientifiques vous lisez? 4. Quelles ressources d9information utilisez-vous? 5. Lisez-vous des joumaux russes ou etrangcres ? 6. Avez-vous de la difficult^ a lire et a comprendre la litterature scientifique? Quelles sont les diffucultes? 7. Connaissez-vous la structure d'un article scientifique, ses caracteristiques lexi-caux et grammaticaux? 8. Comment les cours de franfais vous aident a travailler avec la litterature scien-tifique, quels exercices peut-on utilizer? 
�@8B5@88 >F5=:8: - 2;045=85 B5@<8=>;>3859 48AF8?;8=K; - C<5=85 3@0<>B=> 8=B5@?@5B8@>20BL B5>@5B8G5A:89 <0B5@80;, 4020BL ?>OA-
=5=8O (?@8<5@K), 8A?>;L7>20BL @07;8G=K5 D>@<K <KA;8B5;L=>9 45OB5;L=>AB8 
(0=0;87, A8=B57, >F5=820=85, A@02=5=85, >1>1I5=85 8 B.?.); - 3@0<>B=0O, ;0:>=8G=0O, 4>ABC?=0O 8 ?>=OB=0O @5GL 8 4@. 
�F5=>G=0S H:0;0 
"F5=:0 "�B;8G=>" 2KAB02;O5BAO, 5A;8 ABC45=B ?>;=> @0A:@K; A>45@60=85 <0-
B5@80;0; <0B5@80; 87;>65= 3@0<>B=>, 2 >?@545;5==>9 ;>38G5A:>9 ?>A;54>20-
B5;L=>AB8; ?@>45<>=AB@8@>20=> A8AB5<=>5 8 3;C1>:>5 7=0=85 ?@>3@0<<=>3> <0-
B5@80;0; ?>:070=> C<5=85 8;;NAB@8@>20BL B5>@5B8G5A:85 ?>;>65=8O :>=:@5B-
=K<8 ?@8<5@0<8, ?@8<5=OBL 8E 2 =>2>9 A8BC0F88; ?@>45<>=AB@8@>20=> CA2>5-
=85 @0=55 87CG5==KE A>?CBAB2CNI8E 2>?@>A>2, AD>@<8@>20=- =>ABL 8 CAB>9G8-
2>ABL :><?5B5=F89, C<5=89 8 =02K:>2; >B25B ?@>72CG0; A0<>AB>OB5;L=>, 157 
=02>4OI8E 2>?@>A>2; 4>?CI5=K >4=0 - 425 =5B>G=>AB8. 
"F5=:0 "%>@>H>" 2KAB02;O5BAO, 5A;8 ABC45=B 87;0305B <0B5@80; A8AB5<0B878-
@>20=> 8 ?>A;54>20B5;L=>; ?@>45<>=AB@8@>20; C<5=85 0=0;878@>20BL <0B5@80;, 
?@>45<>=AB@8@>20; CA2>5=85 >A=>2=>9 ;8B5@0BC@K, => ?@8 MB>< 8<55B >48= 87 
=54>AB0B:>2: 2 87;>65=88 4>?CI5=K =51>;LH85 ?@>15;K, =5 8A:0782H85 A>45@-
60=85 >B25B0; 4>?CAB8; >48= - 420 =54>G5B0 ?@8 >A25I5=88 >A=>2=>3> A>45@60-
=8O >B25B0, 8A?@02;5==K5 ?> 70<5G0=8N ?@5?>4020B5;O; 4>?CAB8; >H81:C 8;8 
1>;55 42CE =54>G5B>2 ?@8 >A25I5=88 2B>@>AB5?5==KE 2>?@>A>2, :>B>@K5 ;53:> 
8A?@02;ONBAO ?> 70<5G0=8N ?@5?>4020B5;O. 
"F5=:0 "#4>2;5B2>@8B5;P=>" 2KAB02;O5BAO, 5A;8 ABC45=B =5?>;=> 8;8 =5?>-
A;54>20B5;L=> @0A:@K; A>45@60=85 <0B5@80;0, => ?>:070=> >1I55 ?>=8<0=85 
2>?@>A0 8 ?@>45<>=AB@8@>20=K C<5=8O, 4>AB0B>G=K5 4;O 40;L=59H53> CA2>5=8O 



38  
<0B5@80;0; CA2>5=K >A=>2=K5 :0B53>@88 ?> @0AA<0B@8205<><C 8 4>?>;=8B5;L-
=K< 2>?@>A0<; 8<5;8AL 70B@C4=5=8O 8;8 4>?CI5=K >H81:8 2 >?@545;5=88 ?>-
=OB89, 8A?@02;5==K5 ?>A;5 =5A:>;L:8E =02>4OI8E 2>?@>A>2; ?@8 =5?>;=>< 7=0-
=88 B5>@5B8G5A:>3> <0B5@80;0 2KO2;5=0 =54>AB0B>G=0O AD>@<8@>20==>ABL :><-
?5B5=F89, C<5=89 8 =02K:>2, ABC45=B =5 <>65B ?@8<5=8BL B5>@8N 2 =>2>9 A8BC-
0F88. 
"F5=:0 "�5C4>2;5B2>@8B5;P=>" 2KAB02;O5BAO, 5A;8 ABC45=B =5 @0A:@K; >A=>2-
=>5 A>45@60=85 CG51=>3> <0B5@80;0; >1=0@C65=> =57=0=85 8;8 =5?>=8<0=85 
1>;LH59 8;8 =081>;55 206=>9 G0AB8 CG51=>3> <0B5@80;0; 4>?CI5=K >H81:8 2 
>?@545;5=88 ?>=OB89, ?@8 8A?>;L7>20=88 B5@<8=>;>388, :>B>@K5 =5 8A?@02-
;5=K ?>A;5 =5A:>;L:8E =02>4OI8E 2>?@>A>2, =5 AD>@<8@>20=K :><?5B5=F88, 
C<5=8O 8 =02K:8.  
"F5=:0 "�0GB5=>" 2KAB02;O5BAO ABC45=BC, 5A;8 >A=>2=>5 A>45@60=85 2>?@>A0 
@0A:@KB>, 2 >B25B5 <>3CB A>45@60BLAO =5B>G=>AB8, :>B>@K5 2 F5;>< =5 2;8ONB =0 
87;>65=85 <0B5@80;0 8 =5 A>45@60B 3@C1KE >H81>:. 
"F5=:0 "!5 70GB5=>" 2KAB02;O5BAO ABC45=BC, 5A;8 =5 @0A:@KB> >A=>2=>5 A>45@-
60=85 <0B5@80;0, >1=0@C65=> =57=0=85 >A=>2=KE ?>;>65=89 ?> B5<5 2>?@>A0. 
#@8ACBAB2CNB 3@C1K5 >H81:8. "B25B =0 2>?@>A >BACBAB2C5B    

�>?@>AO 4;S 70G5B0   
"8?>2O5 2>?@>AO: 1. Quelle est votre futur profession? 2. Est - ce qu on choisit souvent cette profession, pourquoi? 3. Est - ce que votre profession est populaire et importante pour la societe? 4. Est - ce qu elle est cxigee dans la societe? 5. Est -ce facile de trouver un bon travail? 6. Est -ce que votre futur metier sera bien @0Cё? 7. Avez - vous fait le stage professionnel en France? 8. Oil allez-vous travailler apres 1'obtention du diplome?            



39  
Ш8D@ 8 A>45@60=85 :><?5B5=F88 �=48:0B>@ :><?5B5=F88 

(H8D@, A>45@60=85) !><5@0 
2>?@>A>2 (87 ?@54-
AB02;5=-
=>3> 
A?8A:0) 

'К-4. !CBEB59A CD<@9AOFP EB6D9-
@9AAO9 >B@@GA<>4F<6AO9 F9IAB?B-
7<<, 6 FB@ K<E?9 A4 <ABEFD4A-
AB@(OI) O;O>9(4I), 8?O 4>489@<K9-
E>B7B < CDBH9EE<BA4?PAB7B 6;4<@B-
89=EF6<O. 'К-4.1, 'К-4.2, 'К-4.3, 'К-4.4. 1-8  
�@8B5@88 >F5=:8: 
• 2;045=85 B5@<8=>;>3859 48AF8?;8=K; 
• C<5=85 3@0<>B=> 8=B5@?@5B8@>20BL B5>@5B8G5A:89 <0B5@80;, 4020BL ?>OA-
=5=8O (?@8<5@K), 8A?>;L7>20BL @07;8G=K5 D>@<K <KA;8B5;L=>9 45OB5;L=>AB8 
(0=0;87, A8=B57, >F5=820=85, A@02=5=85, >1>1I5=85 8 B.?.); 
• 3@0<>B=0O, ;0:>=8G=0O, 4>ABC?=0O 8 ?>=OB=0O @5GL 8 4@. 
�F5=>G=0S H:0;0 
"F5=:0 "�B;8G=>" 2KAB02;O5BAO, 5A;8 ABC45=B ?>;=> @0A:@K; A>45@60=85 <0-
B5@80;0; <0B5@80; 87;>65= 3@0<>B=>, 2 >?@545;5==>9 ;>38G5A:>9 ?>A;54>20-
B5;L=>AB8; ?@>45<>=AB@8@>20=> A8AB5<=>5 8 3;C1>:>5 7=0=85 ?@>3@0<<=>3> <0-
B5@80;0; ?>:070=> C<5=85 8;;NAB@8@>20BL B5>@5B8G5A:85 ?>;>65=8O :>=:@5B-
=K<8 ?@8<5@0<8, ?@8<5=OBL 8E 2 =>2>9 A8BC0F88; ?@>45<>=AB@8@>20=> CA2>5-
=85 @0=55 87CG5==KE A>?CBAB2CNI8E 2>?@>A>2, AD>@<8@>20==>ABL 8 CAB>9G8-
2>ABL :><?5B5=F89, C<5=89 8 =02K:>2; >B25B ?@>72CG0; A0<>AB>OB5;L=>, 157 
=02>4OI8E 2>?@>A>2; 4>?CI5=K >4=0-425 =5B>G=>AB8. 
"F5=:0 "%>@>H>" 2KAB02;O5BAO, 5A;8 ABC45=B 87;0305B <0B5@80; A8AB5<0B878-
@>20=> 8 ?>A;54>20B5;L=>; ?@>45<>=AB@8@>20; C<5=85 0=0;878@>20BL <0B5@80;, 
?@>45<>=AB@8@>20; CA2>5=85 >A=>2=>9 ;8B5@0BC@K, => ?@8 MB>< 8<55B >48= 87 
=54>AB0B:>2: 2 87;>65=88 4>?CI5=K =51>;LH85 ?@>15;K, =5 8A:0782H85 A>45@-
60=85 >B25B0; 4>?CAB8; >48= - 420 =54>G5B0 ?@8 >A25I5=88 >A=>2=>3> A>45@60-
=8O >B25B0, 8A?@02;5==K5 ?> 70<5G0=8N ?@5?>4020B5;O; 4>?CAB8; >H81:C 8;8 
1>;55 42CE =54>G5B>2 ?@8 >A25I5=88 2B>@>AB5?5==KE 2>?@>A>2, :>B>@K5 ;53:> 
8A?@02;ONBAO ?> 70<5G0=8N ?@5?>4020B5;O. 
"F5=:0 "#4>2;5B2>@8B5;P=>" 2KAB02;O5BAO, 5A;8 ABC45=B =5?>;=> 8;8 =5?>-
A;54>20B5;L=> @0A:@K; A>45@60=85 <0B5@80;0, => ?>:070=> >1I55 ?>=8<0=85 
2>?@>A0 8 ?@>45<>=AB@8@>20=K C<5=8O, 4>AB0B>G=K5 4;O 40;L=59H53> CA2>5=8O 
<0B5@80;0; CA2>5=K >A=>2=K5 :0B53>@88 ?> @0AA<0B@8205<><C 8 4>?>;=8B5;L-
=K< 2>?@>A0<; 8<5;8AL 70B@C4=5=8O 8;8 4>?CI5=K >H81:8 2 >?@545;5=88 ?>-
=OB89, 8A?@02;5==K5 ?>A;5 =5A:>;L:8E =02>4OI8E 2>?@>A>2; ?@8 =5?>;=>< 7=0-
=88 B5>@5B8G5A:>3> <0B5@80;0 2KO2;5=0 =54>AB0B>G=0O AD>@<8@>20==>ABL :><-
?5B5=F89, C<5=89 8 =02K:>2, ABC45=B =5 <>65B ?@8<5=8BL B5>@8N 2 =>2>9 A8BC-
0F88. 



40  
"F5=:0 "�5C4>2;5B2>@8B5;P=>" 2KAB02;O5BAO, 5A;8 ABC45=B =5 @0A:@K; >A=>2-
=>5 A>45@60=85 CG51=>3> <0B5@80;0; >1=0@C65=> =57=0=85 8;8 =5?>=8<0=85 
1>;LH59 8;8 =081>;55 206=>9 G0AB8 CG51=>3> <0B5@80;0; 4>?CI5=K >H81:8 2 
>?@545;5=88 ?>=OB89, ?@8 8A?>;L7>20=88 B5@<8=>;>388, :>B>@K5 =5 8A?@02-
;5=K ?>A;5 =5A:>;L:8E =02>4OI8E 2>?@>A>2, =5 AD>@<8@>20=K :><?5B5=F88, 
C<5=8O 8 =02K:8.  

"8?>2O5 7040=8S (7040G8) 
4;S Q:70<5=0 / 70G5B0  

"5<0 I: / 8 <>S A5<PS. !5<59=O5 B@048F88. Ma famille et moi. Les traditions familiaux. Texte 1. Faisons notre connaissance! 
C9est le premier septembre. Ce jour-la les etudes commencent dans notre pays. Les etudiants vont aux instituts et aux universites. Les etudiants de premiere annee arrivent joyeux. Tout est nouveau pour eux: les laboratoires, les ateliers et les matieres a etudier. 
Comme c9est interessant! Ils font vite la connaissance de leurs nouvea. - Permettez-moi de me presenter. - dit une jeune fille. - Je m9appelle Nadine. Mon nom est Ivanova. 
J9ai dix-sept ans. Je suis nee le 5 mars 1994 a Vorkouta. C9est ma ville natale. Apres 
mes etudes secondaires, j9ai decide d9entrer a I9Institut forestier de Syktyvkak. Mais 
avant d9entrer a l'ecole superieure, j9ai frequente deux fois par semaine les cours pre-
paratoires et j9ai travaille ferme a la maison. Et voila un bon resultat! Cette annee, j9ai 
tenu un concours et je suis devenue etudiante de I9Institut forestier de 1 Universite forestiere technique Kirov de Saint-Petersbourg. Maintenant, je fais mes etudes en 
plein temps. J9dtudie en premiere annee a la facultd des technologies de productions. 
Ma specialite est la protection de 19environnement. 
Je m9interesse a la nature et je 19aime beaucoup. J9espere bien que je devienne une 
bonne specialiste et j9ai le travail au complexe forestier de Syktyvkar. Mes etudes sont 
gratuites et je touche une bourse, en plus, mes parents m9envoient un peu d9argent. Bien sur, c est une grande aide pour moi est remplie jusqu9aux bords. Mais j9ai du 
temps de retrouver mes copains et mes copines. Le soir, je lis, j9ecoute de la musique, 
je regarde la tele et surfe sur le Net. J9aime aussi tricoter. C9est mon vrai dada. Nous sommes vingt-cinq dans le groupe: dix-sept filles et huit garcons. J ai deja une 
amie. Elie s9appelle Olga. Olga fait partie du meme groupe que moi. C9est une jeune fille blonde, aux beaux yeux bleus, energique, sociable et sportive. Comme moi, elle est passionnee par la nature et les mathematiques, mais elle aime aussi les langues 
etrangeres. Elle parle bien francais et elle etudie 19anglais. Olga est douee et studieuse. Je ne sais comment, mais elle a le temps de tout faire: voyager, faire du sport (elle sait nager et jouer au basket), aller au theatre, visiter des expositions. Exl. Avez-vous bien compris? 1. Que fait Nadine? 2. Ou fait-elle ses etudes9 3. En quelle annee est-elle? 4. Est-ce 
qu9elle a frequente les cours preparatoires avant d9entrer a I9Institut? 5. En quelle faculte etudie Nadine? 6. Quelle est sa specialite? 7. Quelles sont les reves de Nadine? 8. Touche-t-elle une bourse? 9. Ou habite Nadine? 10. D9ou est-elle? 11. Ses parents, 
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aident-ils Nadine? 12. A quoi s9intdresse Nadine? 13. Combien d9etudiants sont-ils dans son groupe? 14. Nadine, a-t-elle des amis? Comment s9appellent-ils? 15.Com-ment est Olga? 16. Est-ce qu9Olga fait partie du meme groupe que Nadine? 17.Par quelles matieres est-elle passionnee? 18. Est-ce qu9Olga a le temps de tout faire? Ex.2 Terminez les phrases. Employez les mots donnis. Sportif- sociable - energique - natal - etranger - forestier - superieur - doue - studieux -passionne 
1. Nadine est nee a Vorkouta, c9est sa ville ... . 2. Nadine chante, danse, voyage. Elle est... . 3. Olga fait du sport. Elle est ... . 4. J9dtudie le francais. Pour moi, c9est une langue 
... . 5. Victor a beaucoup d9amis. Il est... . 6. Mon ami etudie a I9Institut... 7. L9Institut forestier est une ecole ... . 8. Mon frere a un talent en musique. Il est tres ... . 9. Nadine dtudie bien, parce 
qu9elle est... . 10. Je m9interesse beaucoup au cinema. Je suis ... par les films francais. Ex.3 Traduisez les mots suivants. Trouvez-les dans le texte et remplissez les trous. 
 0AB5@A:0O - ABC45=BK - :C@A - 7=0:><8BLAO - ?@54AB02;OBLAO - D0<8;8O - ?>ABC-
?0BL - ?>A5I0BL - >G=0O D>@<0 >1CG5=8O - >:@C60NI0O A@540 1. Pierre et Victor ... de mon frere. 2. Son ... est Dubois. 3. Je me ..., je suis Nadine. 4. 
Olga ... a 19universite. 5. Nous etudions ... . 6. Mon pere travaille dans ... 7. Les 
problemes de ... m9interessent. 8. Chaque semaine mes parents ... les concerts. 9. Ma soeur est... de troisieme ... . Ex. 4 Dites si les phrases suivantes sont vraies ou fausses. Employez: c9est vrai - MB> 25@=> c9est faux - MB> =525@=> c9est juste - MB> B>G=> ce n9est pas juste - MB> =5B>G=>, =5 B0: c9est correct - MB> ?@028;L=> A5 n9est pas correct - MB> =5?@028;L=> c9est A0 - MB> B0: vous vous trompez - 2K >H8105B5AL je suis d9accord - O A>3;0A5= je suis contre - O ?@>B82, =5 A>3;0A5= 1. Le nom de Nadine est Hugo. 2. Elle a dix-sept ans. 3. La ville natale de Nadine est 
Syktyvkar. 4. Nadine tient bien le concours a 19Universite. 5. Nadine etudie en premi-ere annee. 6. Nadine etudie en plein temps. 7. Les etudes de Nadine sont gratuites, c9est pourquoi elle ne touche pas une bourse. 8. Nadine habite avec sa grand-mere. 9. Les parents aident Nadine regulierement. 10. Nadine a beaucoup de temps libre. 11. Nadine s9interesse a la protection de la nature. 12. Nadine retrouve ses copines chaque soir. 13. Le soir, elle joue de la guitare. 14. Elle aime surfer sur le Net. 15. Le dada de Nadine est la musique. Ex.5 Finissez les phrases. 1. Nadine a une amie ... . 2. Son amie fait... que Nadine. 3. Olga est sympa. Elle a..., elle est ... . 4. Olga aime la nature et les mathematiques, elle est ... . 5. Olga est douee. Elle parle ..., elle etudie ... . 6. Olga est sportive. Elle sait... . 7. Olga est energique. Elle .... 8. Olga est sociable. Elle ... . 9. Elle voyage, danse, chante, parce qu9elle ... . 10. Olga est un ... pour Nadine. 
Ex.6 Remplacez les points par les prepositions qui conviennent (s9il le faut). 
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1. Je suis ne ... Syktyvkar. 2. J9ai decide ... entrer ... I9Institut forestier. 3. Je fais mes etudes ... plein temps. 4. J9etudie ... faculte ... I9economie et gestion. 5. Je m9interesse 
... I9economie. 6. Je touche ... une bourse. 7. Ma joumee est remplie ... bords. 8. J9ai ... temps ... 
retrouver mes copains et mes copines. 9. Le soir, j9ecoute ... la musique, je regarde ... la tele, je surfe ... le Net. 10. J9ai beaucoup ... amis. 
"5<0 2  >;P 871@0==>9 A?5F80;P=>AB8 2 A>2@5<5==>< <8@5. Le role de la pro-fession choisie dans le monde moderne Texte 1 MISSION DU METIER : ARCH1TECTE Grace a une tres bonne connaissance des textes reglementaires et des innovations tech-nologiques dans le secteur du batiment, 1'architecte est a meme de conseiller ses clients dans la realisation de leur futur logement en respectant leur budget et les normes en vigueur. Role de 1'architecte L'architecte possede plusieurs casquettes. Il doit etre creatif tout en respectant des con-traintes legislatives et budgetaires. Il est egalement responsable du bon deroulement des travaux, du debut a la fin d'un chantier de construction. Dessiner les plans pour la construction ou la renovation d'un batiment (maison, immeu-ble...) a la demande du client (prive ou public). Ces plans peuvent etre soumis a des modifications en fonction des voeux des clients, des lois d'urbanisme et des differentes contraintes comme celles liees aux caracteristiques du terrain par exemple. Etablir la faisabilite du projet, et proceder (ou faire proceder si besoin) a toutes les etudes necessaires. Lorsque le projet est valide par le client, choisir les differentes entreprises qui vont intervenir sur la construction (maconnerie, electricite, plomberie, charpente, isola-tion...). Si l'architecte est egalement le maitre d'oeuvre, il etablit un planning precis des differ-entes phases du chantier qu'il doit suivre. Il redige egalement des comptesrendus regu-
liers concemant 19avancement des travaux pour tenir ses clients informes. Remplir la demande de permis de construire aupres du service de 1'urbanisme si neces-saire, avec toutes les pieces indispensables (plans, croquis, photographies). Garant du bon deroulement des travaux, l'architecte doit faire en sorte que les entre-prises presentes sur le chantier travaillent dans les delais et respectent bien les plans. 
Dietmar Feichtinger est l9architecte de la restructuration du gymase Berlioz a Vin-cennes. LP DEVENIR ARCHITECTE : QUALITES REQUISES L'architecte possede un tres bon sens creatif et plus particulierement de dessinateur, car 
il doit etre capable de dessiner tous les plans d9un batiment (plan au sol, plan de masse, elevation, coupes, perspectives). De bonnes connaissances en histoire de 1'art sont egalement indispensables lorsqu'il s'agit de renover certains batiments. Dans ce cas, l'architecte doit etre capable de repro-duire des motifs ou des elements d'architecture appartenant a un style particulier. 
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L'architecte doit etre aussi a 1'aise avec un crayon qu'avec les logiciels de dessin (CAO et DAO) utilises pour realiser les plans. Rigoureux et precis, l'architecte possede egale-ment des notions juridiques, notamment en droit de 1'urbanisme. Lorsqu'un chantier demarre, il peut toujours C avoir des imprevus, des retards ou des modifications. L'architecte doit done etre reactif, souvent disponible et resistant au stress. ARCHITECTE : CARRIERE / POSSIBILITE D’EVOLUTION : Le recours a un architecte n'est pas toujours obligatoire pour la construction ou la ren-ovation d'un batiment. Mais ses nombreuses competences peuvent etre tres utiles. Les architectes sont done souvent sollicites, qu'il s'agisse de la simple realisation de plans a la gestion totale d'un chantier. Certains architectes peuvent etre specialises en developpement durable ou bien encore en urbanisme. L'architecte peut travailler en independant ou integrer une agence. Quand il debute, il travaille d'abord sous la direction d'un chef de projet. Avec 1'experience, il peut a son tour etre responsable de projets, puis devenir chef d'agence. La fonction publique recrute egalement des architectes au sein de ses departements d'urbanisme et du patrimoine. L'obtention d'un poste est fonction de la reussite a un concours et du nombre de places disponibles. DEVENIR ARCHITECTE : FORMATION NECESSAIRE Le metier d'architecte est reglemente. Il est obligatoire de posseder un diplome d'Etat pour 1'exercer. La formation est dispensee au sein d'une vingtaine d'ecoles nationales superieures d'architecture en France, accessibles apres l'obtention du baccalaureat. L'INSA et 1'ESA proposent egalement une formation alternative. Il faut au moins 6 annees d'etudes pour devenir architecte. Le cycle est divise en deux parties. Au bout de 3 ans, 1'eleve obtient un diplome d'etudes en architecture. Il faut 2 annees supplementaires pour valider le diplome d'Etat d'architecte. Pour ouvrir sa propre agence, il faut ensuite obtenir (au bout d'une annee supplementaire) une HMONP (habilitation a exercer la maitrise d'oeuvre en son nom propre) qui est uniquement delivree par les ecoles na-tionales superieures d'architecture. Pour les architectes qui souhaitent se specialiser en urbanisme ou en patrimoine, il est egalement possible de poursuivre en master apres l'obtention du diplome d'Etat (DSA), soit d'atteindre un niveau bac+7. SITUATION DU METIER De la conception au suivi de chantier, les competences techniques et creatives des ar-chitectes sont indispensables dans de nombreuses constructions. Les evolutions dans le domaine de 1'architecture sont frequentes et sont de plus en plus liees a la mise en pratique de la notion de developpement durable. De nouvelles techniques, de nouveaux materiaux et de nouvelles regiementations modifient sans cesse le paysage architec-tural. De par ses connaissances, l'architecte est le mieux place pour proposer a ses cli-ents des solutions a la fois innovantes, economes en energie et respectueuses de 1'en-vironnement. Questions: 1. Quelles qualites sont indispensables pour ce metier, qu9en pensez- vous? 
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2. Quels problemes pouvez-vous rencontrer dans ce metier? 3. Quelles sont les responsabilites de l'architecte?  
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"8?>2O5 :>=B@>;P=O5 7040=8S (7040G8)11: Texte 1 
L’architecture en France 
En France on trouve les monuments de differents styles de 18architecture: I'architecture gothique, classique, moderne. Le chef-d8oeuvrede I'architecture gothique est la cilcbrc cathcdraleNotre-Damede Paris. L'architecture moderne caracterise la France du XX-esicle. Les Franqais sont les prem-iers a employer le beton arme. Les architectes contemporains les plus connus sont Au-guste Perret, Le Corbusier et d'autres. L'art roman en France 
Il s96panouissait en France du milieu du Xl-esi6cle au milieu du XII s. Le reveil sur-venu dans la civilisation se produisit aussi dans Part, en architecture et en sculpture. Ce 
fut surtout un art religieux. On vit alors, selon 18expression d'un moine du temps, la France se vetir „d'une blanche parure d8eglises«, pour remplacer celles qu'avaient brutes les Normands. Ce furent des eglises dites romanes, couvertes par des vofltes en pierres au lieu de charpentes en bois. Les murs en sont epais et perces de rares fenctres pour pourvoir supporter le poid de la voflte. Leur aspect est puissant et massif. Elies sont omees de sculptures encore maladroites et de peintures a I'eau ou fresques. C'est 
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surtout le Centre et le Midi de la France qu'on admire les plus belles eglises romanes: a Clermon Ferrand, a Perigueux, a Toulouse et a Poitiers. 
L9art ogival ou gothique en France 
C9est 19apparition de l9art ogival ou gothique que la France atteignit au Moyen Age le 
sommet de l9art. Au milieu du XII sidcle parurent en Ile-de-Franceles eglises de style ogival faussement appeles gothiques. Leurs voutes ne sont plus arrondies, mais forment 
un arc legerement pointu, 18ogive; leur poids repose sur des piliers elances; les murs sont renforces exterieurement a certains endroits, par des arcs en pierre, lesarcs-bou-tants, ce qui permet de faire les murs minces et d'y pratiquer de larges fenetres. L'orn-ementation est plus riche: des sculptures tres fouillees forment de veritables tableaux en pierres, dont les personnages sont d'une verite admirable; aux fenetres, des vitraux aux couleurs eclatantes tiennent la place des peintures. L'art ogival est d'une legerete et d'une elegance infinie. Nos plus belles cathedrales: celles de Paris, Chartres, Rouen, Reims et Amiens, la SainteChapelle a Paris, 18abbaye du Mont-Saint-Michelappar-
tiennent a ce style. II se repandit a travers toute 18Europe et fut a la mode duXIl-eauXVI-esiccle, pendant quatre cents ans. En dehors des eglises, I'architecture du Moyen Age nous a laisse des chateaux forts, des palais, des hotels de ville, des halles. Texte 2 Le Corbusier Le Corbusier, de son vrai nom Charles-EdouardJeanneret, est nd le 6 octobre 1887 en Suisse. Le jeune Charles, qui dessinait tres bien, etait place en 1903 a I'Ecole d'Art. Mais ce travail ne plaisait pas au garqon. Il preferait I'architecture. En 1908 Le Corbusier arrive a Paris. II C admire NotreDame, la Tour Eiffel. II fait connaissance avec des peintres Cezanne, Matisse. Il devient ami des freres Perret, qui ont employes le beton arme. Grand maitre de I'architecture, Le Corbusier a realise de nombreux projets de recon-struction des villes Alger, Stockholm, Geneve, Barcelone, Rio de Janeiro, Buenos Aires, Paris. A Moscou dans la rue Kirov il C a un immeuble administratif, consruit selon le plan de Le Corbusier. 
Dans ses constructions Le Corbusier emploie largement le verre et le beton arme. <Les seuls elements de 1'urbanisme, disait Le Corbusier, sont le soleil, le ciel, les arbres, I'acier, le ciment. Mes villes, ce sont des villes vertes=. Pour Le Corbusier, le soleil, la verdure et I'espace etaient les materiaux de base de 
18urbanisme. 
A 18interieur de la ville de son reve, le metro et les trains circulent sous terre. Les automobiles et les camions roulent sur des autoroutes. Et partout les surfaces libres occupees par des jardins, des pares ou des stades. Mais le grand architecte n'a pas pu realiser tous ses projets. II est mort en 1965. Repondez aux questions: 1.  Qui est Le Corbusier? 2. Quand et ou est-ilne? 3. Quelles villes voulait-ilreconstuire? 4. Quel materiaux de construction utilisait-ildans ses constructions? 
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5. Quels plans de 18urbanisme proposait-il?   
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